
Signify Classified - Internal#

ARTÍCULO DESCRIPCIÓN Ubicación MAN TOTAL Man ret Man dep ret/dep cant ret cant dep

443000013211 K-TORNILLO DIN-7500C M 4x10 CI T CL.07.14.A 1487 1437 50 28.74 2987448 2755838

443000011936 K-BRIDA AMARRE    2-22d,      PA SMC.400005 1287 1248 39 32.00 1173207 1217003

443000015715 K-TUERCA M20x1,5 27mm SIN FALDILLA SMC.100045 1210 1180 30 39.33 171363 167284

443000013442 K-PLETINA SOP, DESCONEX, ARC80 LUMA SMC.200020 849 820 29 28.28 107674 111235

443000010694 K-RESORTE FIJAC, BANDEJA LUMA CL.06.14.A 761 729 32 22.78 80000 86985

252220098676 K-SCR MTF M4x8 F CBX20 ST CL DIN7500C SMC.300040 729 696 33 21.09 725970 756558

443000010696 K-CLIP SUJECCION VIDRIO LUMA SMC.200030 688 661 27 24.48 555388 543830

443000016899 K-HINGE BRACKET GEAR TRAY LUMA v2 SMC.200055 675 655 20 32.75 144212 138913

443000013598 K-ARANDELA PLANA 20 x30x1,5 EPDM SMC.200005 663 623 40 15.58 94787 102741

443000010648 K-FEMALE CIRCUITBREAKER 10A 3x6mm? SMC.100000 662 597 65 9.18 71099 69604

443000017393 K-SPIRAL PIN ISO8750 5x35mm A2 LUMAS SMC.300080 603 586 17 34.47 159067 149635

443000010689 K-Bracket locking wire LUMA SMC.000060 598 576 22 26.18 112473 113420

443000011952 K-PRENSAESTOPAS M20x1'5  NEG, PA SMC.100015 619 572 47 12.17 63787 63631

443000011041 K-TORNILLO DIN-7500C M 4X12 CI TORX CL.07.12.D 570 544 26 20.92 643604 614685

443000010618 K-PASAHILOS LUMA DIP SMC.200000 559 526 33 15.94 77626 77300

443000017098 K-CABLE GLAND M20x1,5 B TL15mm 10-14 SMC.100020 544 509 35 14.54 78300 77000

258804300005 K-SCR STD 10X30 R GRB H5 A2 DIN916 SMC.300025 510 481 29 16.59 116383 111483

442294504281 WSH LOO D8,6x16,5x2 A4 SMC.300010 485 459 26 17.65 121270 106001

442710245430 INSULATION TUBE OSKS 4X90 SMC.300030 478 447 31 14.42 52741 50845

443000010677 K-Tornillo CKBZK M8x35 Rvs SMC.300050 460 437 23 19.00 183234 166630

443000012076 K-CONEC, FEMALE 4 WIELAND DOUBLE BLK SMC.300000 462 429 33 13.00 75523 76594

443000013207 K-TOR, DIN 7500C M3X20 CI TORX SMC.200010 384 353 31 11.39 256351 231753

441169018551 K-Receptacle Assy + Nut + Wash 2213858-1 SMC.200090 362 346 16 21.63 21265 18405

258862000002 K-WSH LOT D13x20,5x1 A2 DIN6798A SMC.300035 371 342 29 11.79 205531 204018

443000010586 K-GASKET PHOTOCELL LUMA (&LIBRA) SMC.000110 366 335 31 10.81 110802 116891

441300005781 K-SCR MTF M5X8 F CB X25    A2  S SMC.300045 351 325 26 12.50 369905 375234

228800010641 SCREW STD M5X25 F HX H 4 A2 H DIN912 SMC.300005 336 308 28 11.00 154232 144413

252261327019 K-RLLE W10 A2-70   (10,5X16,5X3) SMC.300055 330 306 24 12.75 109045 117682

443000010647 K-MALE CIRCUIT,BRK 3POLE 6SCREW CONN SMC.100005 359 298 61 4.89 63362 57053

443000010649 K-CONECTOR (HEMBRA) 12 POLOS LUMA SMC.100010 336 294 42 7.00 95649 98474

443000017571 K-END CAP PP CORELINE TEMPO LARGE v2 SMC.400000 330 288 42 6.86 94977 85911

258804300006 K-SCR STD M10X40 R GRB H5 A2 DIN916 SMC.300060 309 288 21 13.71 31945 30821

443000010002 K-FILTRO  M12x1,5       GORE-TEX SMC.200080 305 284 21 13.52 46491 46491

443000016563 K-TUERCA PRENSA M20 PA NEGRO CLASSICA SMC.400055 304 281 23 12.22 31077 31577

443000012085 K-CONEC, MALE 4 WIELAND (BLACK) CL.07.10.D 289 269 20 13.45 72658 75854

252204369093 SCR STD M8X40 R GRB H4    A2  SH SMC.200065 283 261 22 11.86 72685 74800

443000010692 K-MUELLE EMPUJE VARILLA LUMA SMC.200040 270 246 24 10.25 54359 49000

443000013269 K-TORNILLO  DIN- 933   M10x20 IN SMC.300075 267 244 23 10.61 96402 90765

443000012081 K-CONEC, MALE 2 WIELAND LOW (BLACK) SMC.300090 258 243 15 16.20 25327 20446

442710201690 Glass Holder EcoStreet DIGISTREET CL.07.02.B 259 237 22 10.77 148211 159035

443000013482 K-BASE BRIDA UNEX-1257 PA SMC.200060 255 235 20 11.75 95470 78270

443000010585 K-JUNTA NEMA (STELA LONG & LUMA 1) SMC.400025 252 234 18 13.00 14256 15050

248801500013 CON WW 5P F H SCR 124845B2 SMC.400010 265 229 36 6.36 23321 22343

441137032420 K-SCR STD M10X50 R GRB H5    A2  SH SMC.300020 252 228 24 9.50 35893 35742

443000016119 K-3-CONNECTOR WIRE BLOCK WAGO 221-413 SMC.200015 253 218 35 6.23 49513 52013

442710252910 B-SCR MTF M4X10 F CK X20 A2 SH DIN 7500 SMC.300105 232 217 15 14.47 155283 162200

443000010682 K-VARILLA DIN-916 M10x16 IN SMC.300065 226 207 19 10.89 48916 49899

443000012293 K-JUNTA TORI,3dx18d INT, NITRILO CL.07.08.A 212 204 8 25.50 31294 34089

443000017818 K-CABLEGLAND M20x1'5 NEG,PA 6-12 METIS SMC.100025 224 203 21 9.67 31600 32850

443000010693 K-RESORTE RETENC, VARILLA LUMA AB, SMC.200035 227 200 27 7.41 57462 52496

228800010651 SCREW STD M6X40 R SK X 4 A2 H DINA2-80 SMC.200050 222 199 23 8.65 66000 70500

242203417308 CS4SO-1-480703-0 SMC.400020 216 196 20 9.80 44948 45844

442710302800 BLEEDER RESISTORS 4x10M? L240 WIR.04.235 210 192 18 10.67 21284 23618

442710204960 K-Screw Holder M5 EcoStreet SMC.200070 211 192 19 10.11 136342 135319

828800003011 K-WSH SD D21x30x3 PA W SMC.400075 200 187 13 14.38 12423 14210

441137090540 K-WSH SHOU M4 4,2X4,9X10H3 PA6 NAT SMC.400035 204 186 18 10.33 206434 181420

443000016409 K-GRADUATED DIALPP CLEARFLOOD LARGEv2 SMC.400015 201 179 22 8.14 15485 15171

252262029033 K-WASHER DEC M4 A2-70 4,1X8X0,5 SMC.200125 185 172 13 13.23 129604 126311

443000010651 K-CONECTOR (MACHO) 12 POLOS CL.06.03.B 191 172 19 9.05 22778 22397

443000012074 K-CONEC, FEMALE 2 WIELAND LOW (BLACK) SMC.200105 183 171 12 14.25 13555 8472

252220398006 K-SCR STD M4x35 F CK9 X20 A4 DIN965 SMC.200075 190 169 21 8.05 41729 42115

443000012045 K-TIRANTE SOP,CIERRE  CLEARFLOOD V2 SMC.200045 190 165 25 6.60 25952 27210

443000015858 K-Bracket New SPD Luma 2+3 SMC.400030 181 164 17 9.65 8351 8343

443000015101 K-TORNIL DIN-7985A M5x20 TORX ZinKlad CL.07.13.D 173 162 11 14.73 90503 97500

441169018561 Sealing cap dark grey 1- 2213795-1 SMC.400100 162 158 4 39.50 11468 7885

443000011935 K-BRIDA AMARRE 5-45d PA NEGRA CL.06.11.A 163 157 6 26.17 32617 43700

443000011367 K-BOLSA  150x 115 PE SMC.400040 177 156 21 7.43 35954 33009

443000015335 K-TERMINAL BLOCK LK 980-01 RZ/3 ADELS SMC.300120 157 142 15 9.47 17892 19369

258820000008 K-SCR MTF M4X12 F CB X20 A2 DIN7500 SMC.300095 151 135 16 8.44 199587 201110

228800007361 CON WW 5P M H SMT 88168353 SMC.400060 144 128 16 8.00 10694 11194

443000014971 K-M SPRING-CAGE CONNECTOR 8P PHO CLEARFL SMC.400085 137 125 12 10.42 8749 10606

443000016906 K-AC180 SK Prensaestopas SMC.200115 134 120 14 8.57 6920 7676

443000016045 K-COVER FEMALE DOUBLE WHITE 3P SMC.400105 124 117 7 16.71 6155 8088

252220098667 K-SCR STE M5x10 P RL-W X25 ST CN SMC.300165 125 115 10 11.50 68477 74180

442710204970 K-Screw Holder M6 EcoStreet SMC.300135 129 114 15 7.60 66868 72809

251161817006 K-RLLE Z6 A2-70     6,4X12X1,2 CL.06.16.B 118 111 7 15.86 73510 83000

443000016044 K-COVER MALE DOUBLE WHITE 3P SMC.400070 117 109 8 13.63 7093 7895

443000017516 K-CABLE GLAND M20x1,5 B TL10 10-14 +J SMC.200130 122 109 13 8.38 17450 17150

443000016714 K-CONEC FEMALE 3WIELAND DBLE BRW SMC.300145 122 107 15 7.13 8449 9550

441137040351 K-FRICTION WASHER MVF607/617 (ARENAV) CL.07.14.B 113 103 10 10.30 19558 23000

821311460321 K-NUT M4 (NYLON INSERT) SMC.300110 116 102 14 7.29 53651 55957

443000015095 K-VARILLA DIN-914-A M10x20 ZinKlad CL.06.16.A 105 99 6 16.50 19453 20509



Signify Classified - Internal#

442710140940 Connector 88167912 SLK5 SKII 1-2-3-4-5 SMC.400090 110 98 12 8.17 8025 6001

443000012075 K-CONEC, FEMALE 3 WIELAND DOUBLE BLK SMC.300130 108 98 10 9.80 6571 6971

443000016713 K-CONEC, MALE 3 WIELAND DOUBLE BRW SMC.400065 113 97 16 6.06 10899 10005

442710043250 K-Glass Washer ClearWay BGP303 SMC.300015 105 97 8 12.13 31211 39250

443000013552 K-BORNA CONEX,    T10  6mm VDEPA CL.06.14.A 110 97 13 7.46 24682 11875

443000016041 K-MALE IP66 CONNECT. 5P M20 CI VERDE SMC.400080 108 96 12 8.00 2701 3223

443000013208 K-TORNILLO DIN-7500C M 4x 6 CI H SMC.300115 107 96 11 8.73 66437 58701

252260079025 K-WASHER PLAIN CRS 4,4X8,0,5 CL.07.10.A 106 96 10 9.60 46238 39238

258800600006 K-SCR STD M8X20 F SK H6 A2 DIN912 SMC.300150 102 93 9 10.33 11679 11124

443000013349 K-GRAPA P/CBL, 6d,x13 LONG, BI LUMA CL.06.10.A 99 91 8 11.38 34065 26051

258804300003 K-SCR STD M6X16 R GRB H3 A2 DIN916 SMC.300085 105 90 15 6.00 25397 30372

443000015097 K-TORNIL DIN-7500  M5x20 TORX ZinKlad CL.07.16.C 96 89 7 12.71 41383 45000

441137098311 K-AXE MEMORY G2 ARENA/OPTIVISION LED SMC.300070 92 87 5 17.40 6348 5448

442710041330 Neoprene impregnated cork gasket SMC.200025 112 86 26 3.31 3723 4723

443000013348 K-GRAPA P/CABLE  12-14 d CL.06.07.A 93 85 8 10.63 8600 10700

443000016207 K-3P COMPACT TERM,BLOCK 2273-203 WAGO SMC.300175 91 83 8 10.38 16100 17500

443000017097 K-CABLE GLAND M25x1,5 B TL15mm 13-18 SMC.200120 96 81 15 5.40 5700 6350

443000014033 K-ARAND,ESPECIAL P2438_CLEARFLOOD CL.06.16.B 88 81 7 11.57 16232 12532

828800026611 Spigot Holder EDINBURGH LM6 SC 92 80 12 6.67 13989 5274

443000013599 K-ARANDELA PLANA 5,3x12x1 NFE CL.07.10.A 84 79 5 15.80 30553 25070

285570500001 K-OTF PPH D10x6,8x10 ST CLEARF 012658008 CL.08.06.C 85 78 7 11.14 14390 18390

442710181970 Spigot Holder EcoStreet SMC.000070 88 76 12 6.33 6850 6455

443000017522 K-Arandela estanq M5 PA6,6 CL.07.15.C 85 76 9 8.44 41322 38601

443000016042 K-FEMALE IP66 CONN 5P D10-14 CI VERDE SMC.300125 87 74 13 5.69 2399 2946

443000012084 K-CONEC, MALE 3 WIELAND (BLACK) SMC.300100 87 73 14 5.21 6998 6667

443000018789 BELOW ROUND SPECIAL SIMPLE WASHER SMC.300170 79 72 7 10.29 38523 54580

258820100012 K-SCR STD M3X20 F CB X10 A2 DIN7985 SMC.300180 79 71 8 8.88 41101 46000

443000011062 K-ARANDELA DIN-125   p, M 8   IN SMC.300155 77 69 8 8.63 49736 45316

443000016904 K-AC180 SK Tubo CLASSIC STREET SMC.200110 82 69 13 5.31 2726 2624

443000015091 K-WASHER DIN-127-B  M10 ZinKlad ARENA CL.07.10.A 75 69 6 11.50 19754 23029

443000020294 RETAINING CORD D2 L60 POLIESTER WIR.03.040 76 68 8 8.50 7401 5479

442710274970 BLEEDER RESISTORS 4x10M? L160 WIR.04.185 74 67 7 9.57 12499 10200

252220198021 K-SCR STD M5x16 F CB X25 A2 DIN7985A CL.07.13.C 75 67 8 8.38 25280 28866

252200698295 K-SCR STD M10x30 F SK H8 A2 DIN912 CL.07.12.A 72 67 5 13.40 6991 6800

258820100027 SCR STD M6X25 F CB X30 A2 SMC.300140 74 65 9 7.22 37826 46800

441137032430 K-SCR STD M8X25  SK H6    ST  CH SMC.200095 76 65 11 5.91 6229 3776

442710153769 K-SCR MTF M4x20 F CB X20 A2 CL.07.12.B 69 64 5 12.80 32024 41310

258820100014 K-SCR STD M4X10 F CB X20 A2 DIN7985 SMC.300160 71 63 8 7.88 33742 35183

443000015093 K-TORNILLO DIN-933  M10X50 ZinKlad SMC.200150 70 61 9 6.78 11000 11000

443000012295 K-JUNTA TORICA 2dx4d INT NITRILO MODULA 66 61 5 12.20 24019 29812

443000016957 K-NBR70 O-Ring M25 D22x2 UL AV&OV CL.06.16.B 65 60 5 12.00 9140 9930

443000016054 K-CONNECTOR SUPPORT CLEARFLOOD LARGE CL.08.08.C 66 58 8 7.25 3084 3320

443000016824 K-WSH RWST D4,3x7x2,3 NY N CL.07.10.C 64 58 6 9.67 34500 31000

443000012072 K-CONEC,MACHO 3P(SECCIONAD,) HEM CL.06.03.B 64 58 6 9.67 3374 3802

443000015334 K-TERMINAL BLOCK LK 980-01 RZ/4 ADELS CL.07.14.A 63 57 6 9.50 4894 4637

441137098870 K-BPP435 CONNECTION PLATE V2 CITYSOUL CL.06.09.B 62 57 5 11.40 3810 4860

443000016177 K-SNAP LOCK PIN D2,5 L4,5 CL.07.15.C 63 56 7 8.00 11668 13245

443000016204 K-FEMALE IP66 CONN  D10-14 CII AZUL SMC.200135 63 55 8 6.88 2054 2349

443000016055 K-SPECIAL WASHER M10 CLEARFLOOD LARGE CL.07.10.B 60 55 5 11.00 7448 8298

443000013235 K-TORNIL,DIN-7985A M6x20 IN TORX CL.07.12.C 58 54 4 13.50 22654 14650

242203417302 CS4PL-1-480702-0 CL.06.01.B 58 53 5 10.60 5926 4303

443000018568 K-METAL PCB TRAY QUIJOTE SMC.100060 60 52 8 6.50 1604 1843

443000016203 K-MALE IP66 CONN ANGL 90 M20 CII AZUL CL.06.16.C 58 52 6 8.67 1007 1150

442294502751 K-SCR STD M4X12 F CB X20 ST CH SMC.300185 58 51 7 7.29 48000 48000

443000017934 K-SPIRAL PIN ISO8750 5x26mm A2 CLEARFLOO CL.07.14.C 54 49 5 9.80 12297 13000

441137094600 K-SCR STD M10X35 R GRB H5 ST88 CH CL.07.15.B 51 48 3 16.00 3101 3101

252262012035 K-WSH LO D6,4x11x1,8 A2-70 H DIN6798A CL.07.10.B 50 48 2 24.00 50009 17000

443000012096 K-COVERCONEC FEMALE 4WIELAND DBLE BLK CL.06.16.C 53 48 5 9.60 1648 1648

443000010721 K-PLATE CIRCUIT BREAKER1-10V/DAL LUMA SMC.000010 53 47 6 7.83 2211 2147

443000012764 K-TUERCA EXAGON,PLANA M12x1,5 NI CL.07.10.A 55 47 8 5.88 5107 5407

443000013605 K-ARANDELA VISTOP M 5         CI CL.06.16.B 54 47 7 6.71 30783 39166

442710140950 Connector 88167480 SLK5 E-SCHR 3-N-E-1-2 CAB.000835 54 47 7 6.71 3422 3204

443000015341 K-TERMINAL BLOCKLK 980-01 RZ/ 2 ADELS SMC.200140 52 44 8 5.50 4651 5251

443000013532 K-SECCIONADOR HEMBRA 3 POLOS 16A CL.07.02.E 49 44 5 8.80 2631 2441

443000013534 K-SECCIONADOR MACHO 3 POLOS 16A CL.07.02.A 48 44 4 11.00 2201 1601

258841900004 K-NUT LO M6 HX A2 -L DIN985 CL.07.12.B 47 43 4 10.75 20191 19402

441137032350 K-FILTRE DE RESPIRATION CITYCHARM CL.06.01.F 48 43 5 8.60 1761 2195

441160001241 K-SCR STD M8  X25  R GRB H4    A2 SH CL.07.14.C 46 42 4 10.50 9200 11990

258820100008 K-SCR STD M3x10 F CB X10 A2 DIN7985 CL.07.15.C 44 41 3 13.67 12595 12595

443000016905 K-AC180 SK Junta (CLASSICAL STREET) CL.07.06.B 44 40 4 10.00 4254 5204

441137034730 K-SCR STD M10X90/90 F SK H8 ST88 CH CL.06.08.A 44 40 4 10.00 1360 2110

443000013553 K-BORNA CONEX,    T12 10mm VDEPA SMC.400095 46 39 7 5.57 10404 11684

443000016353 K-ENCAP GASKET BGP224 CL.08.03.B 43 39 4 9.75 4244 5577

252204369086 K-SCR STD M8x20 R GRB H4 A2 ? CL.07.14.C 41 39 2 19.50 6600 4600

441000010920 K-WSH ST D10,5x20x2 A2 H DIN125A CL.07.10.C 45 39 6 6.50 8190 9407

441160004701 K-NUT LO M10 h12,4 HX A2?70 GLEITMO625 CL.07.14.B 42 38 4 9.50 2569 3975

443000012069 K-CONEC, FEMALE 3 WIELAND DOUBLE WH CL.07.07.C 44 38 6 6.33 3540 4600

443000012015 K-TAPON ROSC, M20 EXAG, NEGRO PA CL.07.08.B 40 37 3 12.33 1403 1403

252220098677 K-SCR MTF M4x10 F CB X20 A2 DIN7500C CL.07.13.B 42 36 6 6.00 28569 38916

443000016052 K-SPD SUPPORT CLEARFLOOD LARGE CL.06.16.B 41 36 5 7.20 1881 1881

442220023800 K-CABLE CLIP CU/NI  (EARTH)D5,2 CL.08.05.B 38 35 3 11.67 7672 7672

252220198019 K-SCR STD M4x16 F CB X20 A2 DIN7985 CL.07.12.C 40 35 5 7.00 17869 17869

441134801832 SCR MTF M3X8 F CK9 X10    ST  CL CL.06.16.A 38 35 3 11.67 17282 19014



Signify Classified - Internal#

228800013981 SCR MTF M4X16 F CK9 X20 ST CH DIN 7500M CL.07.14.C 36 34 2 17.00 13456 15536

441137098640 BDS490/491 SPIGOT GASKET CITYCHARM CL.08.06.D 36 33 3 11.00 1500 1200

441160004951 K-SCR MTF M5X20 F CN X25    A2  SH CL.07.12.C 38 33 5 6.60 11935 16391

258804300002 K-SCR STD M8X12 R GRB H4 A2 DIN916 CL.07.14.C 36 32 4 8.00 6600 8800

443000013586 K-ARANDELA PLANA  4 x12x5   EPDM CL.07.08.A 39 32 7 4.57 14350 19172

443000017409 K-Connector male 2P 160/163 ADELS CL.06.02.B 34 32 2 16.00 1692 2195

258820000003 K-SCR MTF M6X16F CB X30 STCH DIN7500C CL.07.13.C 36 31 5 6.20 7500 7500

443000012399 K-PASAHILOS? 8d,TALADRO 12d,EPDM CL.07.08.A 33 31 2 15.50 5382 707

443000017524 K-SCR STD M5 X12 F CB XS25 A4 ANTIVAN CL.08.06.D 35 30 5 6.00 14524 20000

443000016352 K-CONNECTOR WINDOW GASKET BGP224 CL.08.03.B 34 30 4 7.50 4580 3941

252240120011 K-NUT SD M4 HX A2 CL.07.11.B 34 30 4 7.50 11493 6493

443000017923 K-TIRANTE CIERRE CLASSICSTR & CITYCHARM CL.08.11.C 31 29 2 14.50 5334 5462

443000013224 K-TORNI, DIN-7985A M5x10 IN TORX CL.07.13.A 34 29 5 5.80 16495 42507

443000012071 K-CONEC, MALE 3 WIELAND DOUBLE WH CL.07.10.D 32 29 3 9.67 2600 2800

443000013585 K-ARANDELA PLANA  4  x 8x1,5 PA CL.07.10.A 32 29 3 9.67 9031 12021

443000016445 K-M RST20i5 BK 99.402.4710.8 ESP.CLIP CL.07.07.B 36 29 7 4.14 1136 1686

443000016425 K-D7524-PLUG F RST20/5S BK 96.051.4153.1 SMC.300190 35 28 7 4.00 856 1156

443000015379 K-SCREW DIN7500C M3x16 CI TORX CL.07.14.D 31 28 3 9.33 9052 9020

443000013304 K-TORN, C/TORX R/PLAST M4x10 CI CL.07.12.C 30 28 2 14.00 10358 6500

443000013253 TORNILLO DIN-912 N 8X80 IN CL.07.12.A 37 28 9 3.11 391 361

443000011948 K-PRENSAESTOPAS M16x1'5  NEG, PA CL.07.09.B 32 28 4 7.00 1818 3441

443000012272 K-JUNTA PLA,1,5x16d INT,PERBUN CLEARF CL.06.16.B 34 28 6 4.67 2205 2239

443000015424 K-MACARRON 10d FIBRA DE VIDRIO 140mm GSK 28 27 1 27.00 1580 180

441137098530 BDS490/491 PCB MASK CITYCHARM CL.07.01.B 31 27 4 6.75 987 1120

441137036640 K-SCR STD M10X70 F SK H8    A2  SH CL.07.15.C 29 26 3 8.67 900 1850

442200019660 K-WASHER FIX-RAPID 6X20,5X1,7 CL.07.15.B 31 26 5 5.20 10456 14203

441137098840 K-NUT M5 H4 HX ST8 CH CL.07.15.B 30 26 4 6.50 12329 13604

252240198125 K-ECROU H M5 A2-70 CL.07.11.B 30 26 4 6.50 13211 19609

442710040810 K-Silicon washer 10x3,9x2 CL.07.10.B 29 26 3 8.67 23530 23530

443000016908 K-AC180 SK Connector Clase I CL.07.06.C 30 26 4 6.50 1187 2000

443000016919 K-WIELAND+COVER 2P MALE (BLACK) 30 26 4 6.50 286 800

443000012077 K-CONEC, FEMALE 5 WIELAND DOUBLE BLK CL.07.11.D 29 25 4 6.25 1248 1571

443000015126 K-CABLE GLAND M20 STOPPER CLEARFLOOD TUN CL.07.08.B 27 25 2 12.50 1542 1542

443000013404 K-CORREDERA IJM-150 IJM1_IJM2_JARGEAU CL.07.02.C 29 25 4 6.25 780 780

258800600004 SCR STD M8X25 F SK H6 A2 DIN912 CL.06.08.A 29 25 4 6.25 9800 9400

443000012094 K-COVER CONEC. MALE 4 WIELAND  BLK CL.06.07.A 26 25 1 25.00 1000 1000

252241900004 K-NUT LO M8 8 HX A2 H DIN985 CL.07.12.B 28 24 4 6.00 5340 5790

443000010042 K-TUERCA EXA, R1 G LAT IJM IJG IJT CL.08.12.B 28 22 6 3.67 1290 1529

441137076320 K-STEEL CAM CGP430/431 CITYSOUL CL.06.01.B 23 22 1 22.00 700 700

441137804070 BGP530-531 FIXAT GLASS PLATE V2 CITYSOUL CL.08.09.B 22 21 1 21.00 4100 4100

443000011939 K-BRIDA RETENC, CABLE D-400 & IQV LED CL.08.08.C 23 21 2 10.50 3741 5635

242201500552 K-TB5 BI PI 044015 (LK980-01RZ 5) CL.08.05.C 24 21 3 7.00 647 622

443000011946 K-PRENSA,M20x1,5 RAL-7035 con junt CL.07.14.D 24 21 3 7.00 2750 2750

443000012079 K-CONEC, MALE 5 WIELAND (BLACK) CL.07.11.D 24 21 3 7.00 1183 1000

252240150013 K-NUT ST M6 5 HX A2-70 H DIN934 CL.07.11.B 23 21 2 10.50 6779 12304

252261616005 K-WSH LO D5,3x10x1,5 A2-70 H DIN6798A CL.07.10.B 21 21 0 #DIV/0! 9628 0

441137097100 K-SCR MTF M4X20 F CB X20??? ST? CH CL.07.07.D 23 21 2 10.50 10500 2001

443000013466 K-VASTAGO CIE, 1/4 V 6d (D8) CRO CL.08.12.D 23 20 3 6.67 1207 2794

443000012793 K-GARRA FIJACION VIDRIO CLEARFLOOD CL.08.10.A 23 20 3 6.67 6372 6372

441137800440 K-PALIER NYLON 10,5x13x15 CITYCHARM CL.08.06.B 22 20 2 10.00 1700 2500

443000011947 K-PRENSAEST,M20x1'5 TAL/AIR GRIS CL.06.16.B 26 20 6 3.33 705 506

441137082531 K-ANG,INDEX RING MVF405 ARENAV/OPTIVI SMC.200085 21 19 2 9.50 1690 1424

443000015575 K-SCREW DIN-7500 ZINKLAD M4X10  IQVL CL.08.14.A 19 19 0 #DIV/0! 10000 0

441134801642 K-SCR MTF M3X8 F CB X10    ST  CL CL.07.13.B 24 19 5 3.80 5318 7150

443000013201 K-TORN, C/TORX DIN-7500 M5x10 CI CL.07.13.A 22 19 3 6.33 8096 11090

443000012073 K-CONEC, FEMALE 2 WIELAND CL.07.07.C 21 19 2 9.50 813 243

443000018539 K-Mithra cover lock CL.09.11.B 21 18 3 6.00 459 1011

443000013313 K-TORNILLO CAB,PC POLI,M5x40 IN, IQV CL.07.13.E 19 18 1 18.00 272 2870

443000017143 K-LABEL ELECTRIC SHOCK RISK ETI.04.015 19 17 2 8.50 20000 10000

441137074730 K-SCR STD M10X45 R GRB H5  ST88  CH CL.07.13.B 19 17 2 8.50 1458 1458

443000016907 K-AC180 SK Connector Clase II CL.07.06.A 20 17 3 5.67 1200 1600

443000012097 K-COVER CONEC.FEM 5 WIELAN DOUBLE BLK CL.06.13.A 21 17 4 4.25 238 300

443000012065 K-RESORTE FIJ, BAND, AIRTRACE-1 CL.06.05.B 19 17 2 8.50 2000 2000

258800600002 K-SCR STD M5X90/22 F SK H4 A2 DIN912 SMC.300195 22 16 6 2.67 824 1639

443000012411 K-PASAMUROS EPDM M20 CL.07.13.F 21 16 5 3.20 2600 2650

443000013541 K-REGLETA CONEX,3P,10mmT12ma, PA CL.07.13.A 20 16 4 4.00 1171 1766

443000018459 K-Closing clip Kegel Comfort CL.08.10.C 19 15 4 3.75 852 852

252203258256 K-SCR STD M8X20 F HX H13    A2-70  SH CL.07.15.C 16 15 1 15.00 2797 1000

252201212045 SCR STD M6X20 F SK H5 A2 SH CL.07.12.A 16 15 1 15.00 4500 4500

443000013228 K-TORNI,DIN-7985A M4x20 IN TORX CL.07.07.C 18 15 3 5.00 10500 10500

443000017407 K-Connector male 3P 160/163 ADELS CL.06.02.B 16 15 1 15.00 731 731

441137087050 K-GASKET SPIGOT BDS798 CRISTALCITY CL.08.03.E 15 14 1 14.00 330 700

443000011942 K-PRENSA,M12x1,5 ros,cort, LA,NI CL.07.09.B 16 14 2 7.00 1300 1500

443000014761 K-COVER CONEC, MALE 5 WIELAND BLK CL.07.08.D 14 14 0 #DIV/0! 200 0

443000017229 K-M RST20i5 BL 99.403.4710.8 ESP.CLIP CL.07.06.C 19 14 5 2.80 654 855

443000017817 K-Fused Connectors 1003 Si/ 2 DS METIS CL.06.16.C 20 14 6 2.33 806 1355

443000013305 K-TORN, C/TORX R/PLAST M5x14 CI MODULA 16 13 3 4.33 2381 7507

443000012751 K-TUERCA EMBELLECEDORA IJG CL.08.12.B 16 13 3 4.33 3005 3005

443000013351 K-MOSQUETON 30mm?????? NIQUELADO CL.08.09.C 16 13 3 4.33 2965 2965

443000013463 K-SOPOR,FICH,Z 20x31 IJM CORELINE CLEARF CL.08.07.B 15 13 2 6.50 1442 2741

443000017523 K-Arand, M5 Anti perd-tapa CL.08.06.B 14 13 1 13.00 5093 7000

258820100003 K-SCR STD M5X12 F CB X25 A2 DIN7985 CL.07.13.A 17 13 4 3.25 6930 6930

252203255205 K-SCR STD M10X25 F HX H17 19,2 6,8 A2 CH CL.07.12.A 14 13 1 13.00 1498 2100



Signify Classified - Internal#

441137099130 K-SCR STD M6X25 F SK H5??? A2? SH CL.07.11.A 14 13 1 13.00 1784 1784

443000016716 K-CONEC FEMALE 4WIELAND DBLE BRW CL.07.06.D 17 13 4 3.25 875 975

443000016868 K-Stainless Steel cb retain Black D12 CL.06.15.C 14 13 1 13.00 270 270

443000015578 K-SCREW DIN7500C M4x25 TORX ZINKLAD CL.07.13.D 13 12 1 12.00 633 3073

443000015755 K-SCREW RAISED CHEESE DIN7500C 4x16TX CL.07.13.C 14 12 2 6.00 14000 8337

443000016968 K-NUT COVER TUBELINE CL.07.12.D 14 12 2 6.00 710 1610

228800015291 K-SCR MTF M4X8 F CB X20 A2 DIN7500 CL.07.11.A 14 12 2 6.00 136 1343

434310012580 K-LOCK WASHER M3 INOX A2 DIN 6798A CL.07.10.C 13 12 1 12.00 84 9712

441137082631 K-SPACER MVF605 ARENAV/OPTIVISION LED SMC.100040 13 11 2 5.50 4273 4273

443000015032 K-TERMINAL BLOCK LK 980-01-4 ADELS CL.06.13.A 14 11 3 3.67 33 554

258820200001 K-SCR SST 6,3X38 P CB X30-S A2 TUBELINE CL.06.02.B 12 11 1 11.00 1818 0

441137094900 K-BGP530 WIRES RACEWAY CITYSOUL G2 MINI SMC.400045 15 10 5 2.00 320 512

441137150910 SCR PTP M3,5X12 F RL X10    ST  CL NAV 11 10 1 10.00 5314 5314

441137808560 BDS490 100W DEC DRIVER BRACKET CITYCHARM CL.08.05.B 12 10 2 5.00 500 966

443000013602 K-ARANDELA RETEN CIERRE 1/4 V D6 CL.07.15.B 12 10 2 5.00 3345 3345

252212498033 K-SCR PTP 2,9x19 P CB PH1 A2 DIN 7981 CL.07.14.C 16 10 6 1.67 484 4770

443000017191 4.43E+11 CL.07.14.B 13 10 3 3.33 4048 4048

443000013953 K-TORNI, C/EXA DIN 7500 M6x25 CI CL.07.12.C 14 10 4 2.50 1028 1028

443000012404 K-PASAHILOS 12d,TALADRO 16d,EPDM CL.07.08.A 11 10 1 10.00 905 905

443000015555 K-ANILLO ASIENTO 58dTUF-400 PE IJB KEGEL CL.06.08.A 12 10 2 5.00 952 1000

441137039150 K-CS Z 99,006,8120,7 SERRE CABLE 2P WIEL 12 10 2 5.00 330 1000

443000016987 K-END CAP GASKET TUBELINE GSK 11 9 2 4.50 1000 1000

442710045670 K-ZACISK UZIOMU SGP340/BGP/SGS CL.08.11.A 10 9 1 9.00 2263 7600

443000016964 K-TUBELINE END CAP CL.08.10.E 11 9 2 4.50 521 542

443000052431 K-CITY T LOCK PART CONNEC CLEARFLOOD CL.08.08.E 11 9 2 4.50 499 722

258820100022 K-SCR STD M6X16 F CB X30 ST CN DIN7985 CL.07.15.C 11 9 2 4.50 1400 1400

252220098671 K-SCR MTF M6x16 F CB X30 A2 DIN7500 CL.07.15.B 10 9 1 9.00 2243 4000

443000011637 K-VARILLA DIN-916 M8x35 IN CL.07.14.B 11 9 2 4.50 2163 3480

258820000006 K-STD MTF M6X10 F CB X30 A2 DIN7500C CL.07.13.A 11 9 2 4.50 4630 5400

252261398014 K-WSH LOS D4,1x7,6x0,9 A2 DIN127B CL.07.10.B 11 9 2 4.50 5000 5000

252240150008 K-NUT ST M3 2,4 HX A2-70 H DIN934 CL.07.10.B 11 9 2 4.50 80 5519

258860000012 K-WSH SWO-R D3.5x1.5 RB B CL.07.10.A 15 9 6 1.50 3339 5039

443000013581 K-ARAND,PLANA 6dx12dx4 CUELLO HARMONY CL.07.10.A 11 9 2 4.50 994 994

443000015137 K-WASHER 8,4x40x3 PA6,6 CL.07.09.A 10 9 1 9.00 1263 1263

443000016715 K-CONEC, MALE 4 WIELAND BRW CL.07.08.D 13 9 4 2.25 889 1120

441137090470 K-SCR STD M6X20 F CK H4 A2 GEO321A+M CL.07.08.C 11 9 2 4.50 2000 2000

443000017227 K-TUBELINE EXTERNAL ALU PROFILE 2 PZ PR.01.04.A 9 8 1 8.00 246 331

443000011629 VARILLA DIN 916 M6X10 IN CL.07.14.B 11 8 3 2.67 1038 1830

443000011053 K-TORN, C/TORX R/PLAST M4x14 CI CL.07.12.C 12 8 4 2.00 2932 2200

252260098053 2.5226E+11 CL.07.10.C 8 8 0 #DIV/0! 3200 0

443000015104 K-PASAHILOS CON MEMBRANA RANURADA AV CL.07.08.C 10 8 2 4.00 114 350

443000016418 K-5-CONNECTOR WIRE BLOCK WAGO 221-415 CL.07.06.B 10 8 2 4.00 467 805

443000015124 K-TERMINAL BLOCK LK 980-01-3 ADELS CL.07.06.A 10 8 2 4.00 275 3000

441160004721 K-SCR STD M10X35 F SK H8    A2  SH CL.11.11.A 7 7 0 #DIV/0! 0 0

443000012049 K-TIRANTE SOPORTE CIERRE IQV-150 CL.09.07.A 8 7 1 7.00 1221 1392

443000016696 K-CITYTOUCH POWERBOX TRAY 2 CF LARGE CL.08.08.E 10 7 3 2.33 351 499

443000010145 K-BOLSA MINIGRIP 120 X 170 CL.08.08.C 9 7 2 3.50 250 250

443000018787 SPECIAL DOUBLE WASHER 20 mm CL.08.03.C 9 7 2 3.50 951 4500

443000013239 K-TORNILLO DIN-7985A M5x10 INc/d CL.07.14.B 8 7 1 7.00 454 454

441137090490 K-SCR STD M8X30 F CK H5 A2 GEO321A+M CL.07.12.B 8 7 1 7.00 1000 1000

258860000002 K-WSH SD D5,3x10x1 A2 DIN125A CL.07.10.B 9 7 2 3.50 520 531

443000010959 K-PASAHILOS  500/DS CL.07.08.C 9 7 2 3.50 884 884

443000012248 K-JUNTA CAJA IZL-IZM & ARENA VISION CL.08.10.C 6 6 0 #DIV/0! 0 0

443000016399 K-CITYTOUCH MOUNTING PART CFLARGE & CLEA CL.08.08.B 6 6 0 #DIV/0! 50 0

441137150340 K-SCR STD M5X30  CB PZ2    A2  SH CL.08.05.C 8 6 2 3.00 800 2000

258820600002 K-SCR STE M4X12 P RL X20 ST CL WN5251 CL.07.14.C 7 6 1 6.00 966 1200

252200698139 K-SCR STD M6X30 F SK H5    A2  SH CL.07.14.C 7 6 1 6.00 852 1500

443000013203 K-TORNI, C/EXA DIN 7500 M6x10 CI CL.07.12.C 7 6 1 6.00 1654 2017

443000017278 K-TAPON ROSCADO M12x1,5 LATON NI IP68 CL.07.09.C 7 6 1 6.00 700 700

443000015305 K-WASHER 25,2x40x1,7 CL.07.09.A 7 6 1 6.00 620 0

443000016444 K-D7524-PLUGF RST20/5SB1 96,051,50531 CL.07.08.D 8 6 2 3.00 150 300

443000013485 K-CASQUILLO MORDAZA IZT-METIS & FLOWS CL.07.08.B 7 6 1 6.00 1924 1924

441137035760 K-FILTRE  RESPIRATION 1/8BSPREF MV110018 CL.07.08.B 8 6 2 3.00 443 443

443000012087 K-CONEC, MALE 3 WIELAND WH CL.07.07.A 7 6 1 6.00 200 200

441137095050 BGP531 WIRES RACEWAY CITYSOUL G2 LARGE SMC.400050 7 5 2 2.50 125 125

443000016245 K-MUELLE BISAGRA LUMA_ARC SMC.000100 6 5 1 5.00 1590 1

252220098666 K-SCR MTF M4x8 F CB X20 A2 B DIN7500 CL.07.14.C 9 5 4 1.25 3147 3816

443000013198 K-TORN, C/EXA DIN 7500 M6x12 CI CL.07.12.C 6 5 1 5.00 1072 2206

443000010967 K-TUERCA EXAGON,DIN- 934 M10  IN CL.07.11.C 6 5 1 5.00 502 502

443000017304 K-ARANDELA PLANA5,8x10x0,8 PTFE TUBELINE CL.07.10.C 6 5 1 5.00 791 1242

258860000003 K-WSH SD D6,4x18x1,6 ST CN DIN9021 CL.07.10.A 8 5 3 1.67 1975 1975

443000011071 K-CLIP OPTICO ARC CL.07.08.B 6 5 1 5.00 500 2000

443000012082 K-CONEC, MALE 2 WIELAND (GREY) CL.07.07.A 7 5 2 2.50 202 1000

242201500771 K-TB3BBPI   862-2593 CL.07.06.A 6 5 1 5.00 126 226

443000017521 K-Cordon antip?rdida tapa Stela CL.06.02.C 5 5 0 #DIV/0! 0 0

443000017411 K-Connector female 2P 160/163 ADELS CL.06.02.B 7 5 2 2.50 240 240

443000017408 K-Connector female 3P 160/163 ADELS CL.06.02.B 6 5 1 5.00 228 228

441160004801 K-SCR MTF M3X20 F CN X10    ST  CN CL.03.15.B 7 5 2 2.50 2095 1

443000016468 K-FERRITE Z@100MHz270Ohm WURTH 742 71221 CL.08.07.A 5 4 1 4.00 60 260

441137807460 K-NUT ODN  M8 H4 HX A2, CL.08.05.E 6 4 2 2.00 150 1108

258804300009 K-SCR STD M5X40 F GRB H2,5 A2 DIN913 CL.07.14.C 5 4 1 4.00 950 1000

443000015318 K-SCREWRAISED DIN7500C M5x10 TRX ZINK CL.07.13.C 5 4 1 4.00 872 1062

258820300003 K-SCR STD M4x10 F CK9 X20 A2 DIN965 CL.07.12.B 5 4 1 4.00 0 1000



Signify Classified - Internal#

443000013251 K-TORNILLO DIN-912  M5x35 IN CL.07.12.A 5 4 1 4.00 927 927

443000012772 K-TUERCA PRENSA,LATON M20x1,5 NI CL.07.11.A 4 4 0 #DIV/0! 300 0

441137731540 K-RLLE BELLEVILLE+GASKET 6,7X16X2 CL.07.10.C 8 4 4 1.00 778 1651

443000011161 K-TUERCA EXAGON.DIN- 934 M 8  IN CL.07.10.B 5 4 1 4.00 25 1800

443000015304 K-WASHER 22,2x34x1,5 CL.07.09.A 6 4 2 2.00 715 1715

443000012412 K-PASAMUROS EPDM PG-16 GRIS HY1 & HY2 CL.07.08.C 6 4 2 2.00 150 400

443000017527 K-Tap?n plast para badeja giratoria CL.07.08.C 4 4 0 #DIV/0! 0 0

443000013596 K-FLAT WASHER 16x26x2,2 SIL,FOT,MINI CL.07.08.A 7 4 3 1.33 647 1894

443000013418 K-PASADOR BISAGRA ARC CL.07.06.A 5 4 1 4.00 1006 7300

443000015033 K-TERM, BLOCK LK 980-01-5 SK B ADELS CL.06.13.A 5 4 1 4.00 189 1000

443000012037 K-CLIP RETENCION APERTURA IVG1_QT2 CL.06.06.B 5 4 1 4.00 1000 1000

441300013881 K-SCR MTF M4X30 F CB X20    ST  CL CL.06.01.D 7 4 3 1.33 470 1761

443000013312 K-TORN,CAB,PC POLI,M5x35 IQV LED&IQD CL.06.01.B 6 4 2 2.00 0 0

443000013785 K-PORTA FUSIBLE 1 BORNA WIR.02.130 3 3 0 #DIV/0! 20 0

443000052057 K-SOPORTE FILTRO EMC LUMA SMC.000015 5 3 2 1.50 300 417

441160004791 K-SCR MTF M3X16 F CN X10    ST  CN CL.12.11.A 4 3 1 3.00 200 5000

441160004991 K-SCR PTF D3X16 F CB X10    ST  CN CL.12.11.A 4 3 1 3.00 0 8000

441137065140 ADAPTER GASKET NEMA SOCKET D4 CL.09.08.E 4 3 1 3.00 283 283

443000013362 K-SOPORTE CORREDERA IJG CL.08.12.E 3 3 0 #DIV/0! 0 0

443000013486 K-COJINETE DESLIZA, RACOR 1" G PA HARM CL.08.09.C 3 3 0 #DIV/0! 0 0

443000016053 K-EMC FILTER SUPPORT CLEARFLOOD LARGE CL.08.08.A 4 3 1 3.00 10 10

441160005071 K-SCR PTF D4X20 F CB X20    ST  CN CL.07.15.B 3 3 0 #DIV/0! 0 0

443000013232 K-TORNIL,DIN-7985A M3x10 IN TORX CL.07.14.D 5 3 2 1.50 2699 2699

443000013217 K-TORNI DIN-7985A M3x16 IN TORX CL.07.14.D 4 3 1 3.00 510 7900

258820100009 SCR STD M3X16 F CB X20 A2 DIN7985 CL.07.14.B 4 3 1 3.00 780 0

443000013212 K-TORNILLO DIN-7500C M 4x15 CI Trx CL.07.12.C 3 3 0 #DIV/0! 0 0

252203298321 K-SCR STD M5x15 F HX H8 A2 DIN933 CL.07.12.B 4 3 1 3.00 850 850

228800007741 K-NUT LO M5 HX A2 -L DIN985 CL.07.11.C 3 3 0 #DIV/0! 0 0

441300011131 K-O-RING 18,64 IDx3,53 NITRILE RUBB SH70 CL.07.10.C 4 3 1 3.00 436 436

443000013187 K-REMACHE TRAC, 3dx14x6d,  AL/AC CL.07.09.C 3 3 0 #DIV/0! 0 0

443000013483 K-CASQUILLO 1 CIL,5/7x?6 EPDM IQV LED CL.07.08.C 4 3 1 3.00 2022 5410

443000016141 K-RST20i2 MALE M25 DEV. CONNECTOR BR CL.07.07.D 6 3 3 1.00 56 117

443000017231 M RST20I5 BK 99.400.4710.8 (ES.CLIP) CL.07.07.A 4 3 1 3.00 58 0

443000018543 K-TERMINAL BLOCK LK 980-01-2 ADELS CL.07.06.B 3 3 0 #DIV/0! 0 0

443000015058 K-CLAMP SS 1,4571 (FLOWSTAR & FLOWLIN CL.06.16.B 4 3 1 3.00 300 300

443000017812 K-Jumper 2P METIS CL.06.14.C 5 3 2 1.50 0 840

441137042350 K-JUNTA TORIQ 4,47X1,78 70SH NBR CL.06.07.A 4 3 1 3.00 1055 10000

443000013518 K-RESORTE CLIP SUJECI?N ARC CL.06.05.A 4 3 1 3.00 100 600

443000017352 K-Fiber wiring fixation Stela Round CL.06.02.B 5 3 2 1.50 268 403

443000015422 K-MACARRON 10d FIBRA DE VIDRIO 350mm SMC.000130 2 2 0 #DIV/0! 0 0

443000013499 K-LOCKING PLATE (FIJACION ACOPL, ARC) NA.15.02.A 2 2 0 #DIV/0! 1 0

443000012603 K-LABEL PELIGRO POR TENSION OBSOLETO ETI.06.015 2 2 0 #DIV/0! 0 0

441137805260 K-BOBEK LOCK CANOPY CL.10.01.B 2 2 0 #DIV/0! 0 0

443000010035 K-PESTILLO "Z" 16x59  IVH & IJM CL.08.12.F 2 2 0 #DIV/0! 0 0

443000013314 K-TORNILLO cab/planaFS 4,8x13 CI CL.08.10.A 3 2 1 2.00 61 2000

441137077470 K-AXIAL FERRITE BEADS 74270044 CL.08.05.A 3 2 1 2.00 100 100

443000016955 K-OTF SPST D6,2x6,5x2 PA6.6 CL.08.03.C 3 2 1 2.00 0 2649

252200698289 K-SCR STD M8x25 F SK H6 A2 B DIN912 CL.07.16.B 3 2 1 2.00 1500 1500

258820000001 K-SCR MTF M4X16F CK9X20 ST CLDIN7500M CL.07.14.D 2 2 0 #DIV/0! 0 0

443000011052 K-TORN, C/TORX R/PLAST M5x12 CI CL.07.13.C 3 2 1 2.00 0 2487

443000013215 K-TORNILLO DIN-7500C M 5X16 CI TORX CL.07.13.C 5 2 3 0.67 209 1345

252203258311 K-SCR STD M10X35 F HX H    A2  SH CL.07.12.A 2 2 0 #DIV/0! 0 0

441137091440 K-NUT ST M10 H8,4 HX ST?C8 CH CL.07.11.C 3 2 1 2.00 0 0

442710189608 NUT LO M4 5 HX A2 H DIN 985 CL.07.11.B 5 2 3 0.67 35 3243

441137801930 K-SCR STD M8X35 F SK H5 ST109 CH CL.07.11.A 2 2 0 #DIV/0! 0 0

443000013593 K-ARANDELA PLANA  5x9x 2   PTFE CL.07.10.B 3 2 1 2.00 4 5000

441137095210 K-SOUTHCO RETAINER D8 326 101 200 CL.07.10.B 2 2 0 #DIV/0! 0 0

443000013589 K-ARANDELA PLANA  5  x14x2 PE IJM1 SO CL.07.10.A 2 2 0 #DIV/0! 0 0

441137097110 K-O RING R2? ( W1,9 DI 3,4) CL.07.10.A 3 2 1 2.00 1930 1930

443000016921 K-WIELAND+COVER 2P FEMALE (BLACK) CL.07.07.D 3 2 1 2.00 0 200

443000016389 K-5 POLE WAGO CONNECTOR WITH LABEL CL.07.07.B 2 2 0 #DIV/0! 0 0

441160004871 K-SCR MTF M4X16 F CB X20    ST  CN CL.07.07.A 4 2 2 1.00 460 460

443000016238 K-RST20i5 FEMALE M25 DEV,CONNECTOR BL CL.07.06.B 3 2 1 2.00 10 100

441137034190 K-PATTE DE FIX ENJOLIVEUR CGP431 CITYSOU CL.06.01.D 2 2 0 #DIV/0! 0 0

443000015027 K-FUSEHOLDER BLACK FX0419 BULGIN WIR.04.110 1 1 0 #DIV/0! 0 0

443000017814 K-FUSE 10A 6,3x32 WIR.03.165 3 1 2 0.50 0 230

441137037650 K-BLACK CAP KAPSTO GPN350 REF350I571 SMC.400110 1 1 0 #DIV/0! 0 0

441300011741 K-SCR MTF M4X20 F CK X20 ST88 BH PM.06.01.A 3 1 2 0.50 491 5175

441137088653 K-PCB CONNEC,BOARD 3 MODUL,AV/OPTI UL DRV.000053 2 1 1 1.00 30 105

443000017741 K-Cinta adh 2 cara PCB-St 0,16x1832 CL.B5.02.D 1 1 0 #DIV/0! 0 0

441137801980 K-BRP708 COMPLETE CLOSE CLIP OCEAN LED CL.10.13.B 1 1 0 #DIV/0! 0 0

443000017799 K-CONNECTOR TRAY METIS CL.09.10.A 1 1 0 #DIV/0! 0 0

443000015336 K-CLOSURE STRAP SUPPORT IQV NEW CL.09.07.A 1 1 0 #DIV/0! 0 0

443000017404 K-SCR STD M5x16?F CB?XS25?A4 DIN7985 CL.09.03.A 1 1 0 #DIV/0! 0 0

441300013891 K-SCR MTF M4X35 F CB X20    ST  CL CL.09.01.E 2 1 1 1.00 12 2000

441160005081 K-SCR PTF D5X14 F CB X20    ST  CN CL.08.12.F 1 1 0 #DIV/0! 0 0

443000013505 K-RACOR HARMONY IJM IJG  IJT 1'' GAS CL.08.12.A 2 1 1 1.00 32 32

443000017861 K-RESORTE PESTILLO METIS CL.08.11.B 1 1 0 #DIV/0! 0 0

443000012406 K-PASAHILOS 6,5d Taladro 10d  SI CL.08.10.A 2 1 1 1.00 100 208

441137101390 ADAPTATEUR NEMA-SOCKET SPEEDSTAR CL.08.08.E 3 1 2 0.50 0 586

441137801290 K-DRIVER BRACKET BDS100 KEY W5 URBANSTAR CL.08.08.A 1 1 0 #DIV/0! 0 0

443000017794 K-TRACK DIN 7,5x35 250MM CL.08.08.A 1 1 0 #DIV/0! 0 0

443000017351 K-Steel wiring fixation Stela Round CL.08.06.B 2 1 1 1.00 0 0



Signify Classified - Internal#

441137077480 K-LUG BRACKET FERRITE WURTH 500917000 CL.08.05.A 1 1 0 #DIV/0! 0 0

252200698293 K-SCR STD M5x40/22 F SK H4 A2 DIN912 CL.07.16.C 1 1 0 #DIV/0! 0 0

441137806510 K-RECEPTABLE PANEX LOGO CL.07.16.A 2 1 1 1.00 0 1172

441134801433 K-SCR MTF M3X12 F CB X10    ST  CN CL.07.15.C 2 1 1 1.00 258 258

441137071750 K-SCR MTF M4X10 F CB X20 ST88 BH CL.07.15.A 3 1 2 0.50 668 2700

441160005051 K-SCR PTF D4X16 F CB X20    ST  CN CL.07.14.C 1 1 0 #DIV/0! 0 0

443000015579 K-SCREW DIN 7500 3X25 IN TORX CL.07.13.C 1 1 0 #DIV/0! 0 0

258820300002 K-SCR STD M5X10 F CK9 T25 A2 DIN965 CL.07.13.B 1 1 0 #DIV/0! 0 0

441300006271 K-SCR PTP D4X20 F CB X20    ST  CL CL.07.12.C 1 1 0 #DIV/0! 0 0

252202298091 K-SCR STD M10x35 F CK9 H6 A2 DIN7991 CL.07.12.A 3 1 2 0.50 0 900

441137808260 K-NUT LO M3 HX A2 DIN985 CL.07.11.C 1 1 0 #DIV/0! 0 0

443000016165 K-WASHER PLANA 5.3X11.4X1.5 IN CL.07.10.D 1 1 0 #DIV/0! 0 0

443000013604 K-ARANDELA VISTOP M 4         CI CL.07.10.C 2 1 1 1.00 69 864

443000011069 AAXK-ARANDELA DIN-6798-A p. M 8  IN CL.07.10.B 3 1 2 0.50 1857 1857

443000013601 K-ARANDELA PLANA 6x12x1,5 TEFLON CL.07.10.A 2 1 1 1.00 1822 1822

443000013181 K-REMACHE TRAC,3,2x 7,9x 6,5d AL CL.07.09.C 3 1 2 0.50 300 2342

443000013179 K-REMACHE TRAC,4x 9,5x8d AL CL.07.09.C 4 1 3 0.33 300 2322

443000013177 K-REMACHE TRAC,3,2x11x6,5d,AL-IN CL.07.09.C 2 1 1 1.00 0 2000

443000013184 K-REMACH,TRAC,4,8x22x9,5d AL EST CL.07.09.C 1 1 0 #DIV/0! 0 0

443000015288 K-PRENSA,M12x1,5 RAL-7035 con junt CL.07.09.A 2 1 1 1.00 0 1500

443000012401 K-PASAHILOS 1'0d, TALADRO 9d, SI CL.07.08.B 1 1 0 #DIV/0! 0 0

443000011941 MARCADOR CENTRO LAMPARA CL.07.08.A 1 1 0 #DIV/0! 0 0

443000012403 K-PASAHILOS 12d,TALADRO 15d EPDM CL.07.08.A 3 1 2 0.50 5 830

441137806480 K-LOGO HINGE BRACKET CL.07.07.C 1 1 0 #DIV/0! 0 0

441160001621 K-SCR STD M5X10 F SK H4    A2  SH CL.07.07.C 2 1 1 1.00 0 600

443000012091 K-COVER CONEC, MALE 2 WIELAND BLK CL.07.07.C 1 1 0 #DIV/0! 0 0

441137074510 K-CONNECTOR PUSH 2 P BYPASS WAGO 224,114 CL.07.06.C 2 1 1 1.00 0 0

443000016435 K-SOCKET WITHOUT RELIE HOUS 5P770-205 CL.07.06.B 1 1 0 #DIV/0! 0 0

441300011781 K-SCR MTF M4X10 F CB  X20 ST CL SCW FCW CL.07.06.A 2 1 1 1.00 0 5000

443000012539 K-AISLANTE P/LAM,BASE 40dB-22 PR ARC CL.07.05.C 5 1 4 0.25 0 1800

441160005091 K-SCR PTF D5X40 F CNF X20    A2  SH CL.07.01.A 1 1 0 #DIV/0! 0 0

443000014061 K-CONECTOR 3POLOS ST18/3S CL.06.10.A 2 1 1 1.00 0 800

441137090480 K-SCR STD M6X20 F CK MD7 A2 GEO321A+M CL.06.08.C 2 1 1 1.00 0 2000

441137090500 K-SCR STD M8X30 F CK MD7??A2 GEO321A+M CL.06.08.C 1 1 0 #DIV/0! 0 0

443000010755 K-JUNTA NEMA ARC80 CL.06.08.B 2 1 1 1.00 0 470

443000017525 K-SCR STD M8x30 F SK H6 A4 DIN-912 CL.06.02.B 1 1 0 #DIV/0! 0 0

443000017349 K-Chapa fijaci?n NEMA Stela CL.06.02.A 2 1 1 1.00 0 3

441137099990 K-SHORT BUSHI DM25,4-DE27 B-100-875 2847 CL.06.01.D 2 1 1 1.00 100 728

441137087220 K-CABLE TUBE NATUREL BDS798 CRISTALCITY 1 1 0 #DIV/0! 0 0

443000013733 K-CBL,Si+Si VDE BLAN 1x1,5 300/P8+F6P WIR.04.160 0 0 0 #DIV/0! 0 0

443000013727 K-CBL,Si+Si VDE BLAN 1x1,5 150/P8+F6P WIR.04.075 0 0 0 #DIV/0! 0 0

443000017173 K-PROTECTOR TERMINAL BANDERA 6,3 WIR.03.315 1 0 1 0.00 0 700

443000017172 4.43E+11 WIR.03.310 0 0 0 #DIV/0! 0 0

443000017815 K-FUSE DE 4A / 240 EC58273 METIS WIR.03.170 1 0 1 0.00 0 20

443000020206 BRIDGE WIRE RESISTOR LENGTH 150 MM WIR.02.160 0 0 0 #DIV/0! 0 0

443000013729 K-CBL,Si+Si VDE BLAN 1x1,5 200/P8+F6P WIR.01.105 0 0 0 #DIV/0! 0 0

443000017739 4.43E+11 TRIVIALES 0 0 0 #DIV/0! 0 0

443000018822 4.43E+11 TRIVIALES 0 0 0 #DIV/0! 0 0

443000050178 M-K-PESTILLO CIERRE AIRTRACE-1 SUB.05.085 0 0 0 #DIV/0! 0 0

443000050471 M-K-PUENTE PLAMP ARC P SUB.05.085 0 0 0 #DIV/0! 0 0

443000050469 M-K-PUENTE PLAMP ARC J SUB.05.055 0 0 0 #DIV/0! 0 0

443000050468 M-K-PUENTE_V P/LAMP COSMO ARC80 SUB.05.040 0 0 0 #DIV/0! 0 0

443000050477 M-K-DIAL "U" ENFOQUE E-27 IVH-150(&IVF) SUB.05.025 0 0 0 #DIV/0! 0 0

443000050736 M-K-SOPORTE CORREDERA IJM-150 SUB.04.010 0 0 0 #DIV/0! 0 0

443000053673 4.43E+11 SUB.03.040 0 0 0 #DIV/0! 0 0

443000050952 M-K-SOPORTE WIELAND (CLEARFLOOD TUNEL SUB.03.030 0 0 0 #DIV/0! 0 0

443000050926 M-K-FIJACION VIDR ESPECIAL P2438 CLEARFL SUB.02.030 0 0 0 #DIV/0! 0 0

443000010619 4.43E+11 SMT.1.1 0 0 0 #DIV/0! 0 0

443000018879 4.43E+11 SMD 0 0 0 #DIV/0! 0 0

441137076280 WEDGE EXTRUD ALU CGP430/431 RAW CITYSO SMC.200100 0 0 0 #DIV/0! 0 0

443000020136 CONNECTOR 8-POL WAGO 9261D040 SMC.100065 0 0 0 #DIV/0! 0 0

441137807380 HEATSINK OSIRIS SMC.100055 0 0 0 #DIV/0! 0 0

442710270690 K-BLOCKING WIRE MINILUMA SMC.100045 0 0 0 #DIV/0! 0 0

441137088551 K-EAR CAP BLUE ARENA VISION LED SMC.100035 0 0 0 #DIV/0! 0 0

441137088541 K-EAR CAP GREY OPTIVISON LED SMC.100030 0 0 0 #DIV/0! 0 0

443000015912 4.43E+11 SMC.000180 0 0 0 #DIV/0! 0 0

443000015421 K-MACARRON 10d FIBRA DE VIDRIO 300mm SMC.000150 0 0 0 #DIV/0! 0 0

443000015423 K-MACARRON 10d FIBRA DE VIDRIO 230mm SMC.000135 0 0 0 #DIV/0! 0 0

443000010966 4.43E+11 SMC.000125 0 0 0 #DIV/0! 0 0

443000015911 4.43E+11 SMC.000120 0 0 0 #DIV/0! 0 0

443000015909 4.43E+11 SMC.000115 0 0 0 #DIV/0! 0 0

443000010687 K-MUELLE CLIP CIERRE LUMA SMC.000065 0 0 0 #DIV/0! 0 0

443000018786 K-H07RN-F 3G1,5L=0,35M+CON3P v2 CORELINE SMC.000005 0 0 0 #DIV/0! 0 0

441342514091 K-SEALING RING M12 GLAND (FD-M12 JACOB) PM.06.01.A 0 0 0 #DIV/0! 0 0

443000020399 WHITE MASK BDP265 PM.04.02.A 0 0 0 #DIV/0! 0 0

443000016214 4.43E+11 PCB.000065 0 0 0 #DIV/0! 0 0

443000018856 4.43E+11 PCB.000055 0 0 0 #DIV/0! 0 0

443000016213 4.43E+11 PCB.000050 0 0 0 #DIV/0! 0 0

443000018621 4.43E+11 PCB.000045 0 0 0 #DIV/0! 0 0

443000017855 4.43E+11 PCB.000040 0 0 0 #DIV/0! 0 0

443000016739 4.43E+11 PCB.000035 0 0 0 #DIV/0! 0 0

443000016176 4.43E+11 PCB.000030 0 0 0 #DIV/0! 0 0

443000017148 4.43E+11 PCB.000015 0 0 0 #DIV/0! 0 0



Signify Classified - Internal#

443000017262 4.43E+11 PCB.000010 0 0 0 #DIV/0! 0 0

443000018599 4.43E+11 PCB.000005 0 0 0 #DIV/0! 0 0

443000020323 4.43E+11 PCB.000000 0 0 0 #DIV/0! 0 0

443000017261 K-Chapa cierre Stela Round NA.09.01.C 0 0 0 #DIV/0! 0 0

443000013321 4.43E+11 NA.06.01.D 0 0 0 #DIV/0! 0 0

441134106101 K-PP/CABLE ANCHORAGE 16 T120 WH NA.05.03.B 0 0 0 #DIV/0! 0 0

443000010052 K-CASQUILLO ARANDELA IVF-150 PA6 LUMA NA.05.03.B 0 0 0 #DIV/0! 0 0

443000012536 K-AISLANTE P/LAMP,IJM&IVA125/2 CYP NA.05.03.B 0 0 0 #DIV/0! 0 0

443000015147 K-Connector WAGO 5Poles NA.05.03.B 0 0 0 #DIV/0! 0 0

443000050972 M-K-WIELANDS SUPPORT IJG LED V2 NA.05.03.B 0 0 0 #DIV/0! 0 0

443000011058 K-GRUB SCREW M10x50 RVS A4 HEX SECURI NA.05.03.B 0 0 0 #DIV/0! 0 0

443000017402 K-SCR STD M10x16 R GRB HS5 A4 STELAS NA.05.03.B 0 0 0 #DIV/0! 0 0

443000019093 4.43E+11 NA.04.02.D 0 0 0 #DIV/0! 0 0

443000013891 TORNILLO  DIN-7976-C 4,2x13 CI MON 0 0 0 #DIV/0! 0 0

441137808150 4.41138E+11 GSK.200225 0 0 0 #DIV/0! 0 0

441137801830 4.41138E+11 GSK.200220 0 0 0 #DIV/0! 0 0

441137801760 4.41138E+11 GSK.200215 0 0 0 #DIV/0! 0 0

443000015585 4.43E+11 GSK.200210 0 0 0 #DIV/0! 0 0

441137095040 BGP531 GASKET CITYSOUL G2 LARGE GSK.200205 0 0 0 #DIV/0! 0 0

441137094890 4.41137E+11 GSK.200195 0 0 0 #DIV/0! 0 0

443000017258 4.43E+11 GSK.200190 0 0 0 #DIV/0! 0 0

443000017257 4.43E+11 GSK.200185 0 0 0 #DIV/0! 0 0

443000018918 4.43E+11 GSK.200185 0 0 0 #DIV/0! 0 0

443000017256 4.43E+11 GSK.200180 0 0 0 #DIV/0! 0 0

443000017255 4.43E+11 GSK.200175 0 0 0 #DIV/0! 0 0

443000017254 4.43E+11 GSK.200170 0 0 0 #DIV/0! 0 0

443000017252 4.43E+11 GSK.200160 0 0 0 #DIV/0! 0 0

443000017251 4.43E+11 GSK.200155 0 0 0 #DIV/0! 0 0

441137081390 4.41137E+11 GSK.200150 0 0 0 #DIV/0! 0 0

443000016862 4.43E+11 GSK.200145 0 0 0 #DIV/0! 0 0

442710282190 4.4271E+11 GSK.200135 0 0 0 #DIV/0! 0 0

443000017471 4.43E+11 GSK.200120 0 0 0 #DIV/0! 0 0

443000018695 4.43E+11 GSK.200120 0 0 0 #DIV/0! 0 0

443000016293 4.43E+11 GSK.200115 0 0 0 #DIV/0! 0 0

443000017469 4.43E+11 GSK.200115 0 0 0 #DIV/0! 0 0

441137099370 4.41137E+11 GSK.200115 0 0 0 #DIV/0! 0 0

443000018562 4.43E+11 GSK.200110 0 0 0 #DIV/0! 0 0

443000016849 4.43E+11 GSK.200090 0 0 0 #DIV/0! 0 0

442710282180 4.4271E+11 GSK.200085 0 0 0 #DIV/0! 0 0

443000016848 4.43E+11 GSK.200080 0 0 0 #DIV/0! 0 0

442710201660 4.4271E+11 GSK.200070 0 0 0 #DIV/0! 0 0

443000017324 4.43E+11 GSK.200050 0 0 0 #DIV/0! 0 0

443000017323 4.43E+11 GSK.200045 0 0 0 #DIV/0! 0 0

443000016102 4.43E+11 GSK.200040 0 0 0 #DIV/0! 0 0

443000016101 4.43E+11 GSK.200035 0 0 0 #DIV/0! 0 0

442710201680 4.4271E+11 GSK.200025 0 0 0 #DIV/0! 0 0

443000017032 K-GASKET CORELINE TEMPO LARGE GSK.200020 0 0 0 #DIV/0! 0 0

443000016022 4.43E+11 GSK.200010 0 0 0 #DIV/0! 0 0

443000018663 4.43E+11 GSK.200005 0 0 0 #DIV/0! 0 0

443000014862 4.43E+11 GSK.200000 0 0 0 #DIV/0! 0 0

443000020459 4.43E+11 GSK.100130 0 0 0 #DIV/0! 0 0

443000018939 COVER GASKET BDP260 TOWN TUNE CENTRAL GSK.100115 0 0 0 #DIV/0! 0 0

443000010636 4.43E+11 GSK.100095 0 0 0 #DIV/0! 0 0

443000018853 K-GASKET CORELINE TEMPO MEDIUM GSK.100090 0 0 0 #DIV/0! 0 0

443000020471 4.43E+11 GSK.100085 0 0 0 #DIV/0! 0 0

443000010637 4.43E+11 GSK.100080 0 0 0 #DIV/0! 0 0

443000010635 4.43E+11 GSK.100075 0 0 0 #DIV/0! 0 0

443000010622 4.43E+11 GSK.100065 0 0 0 #DIV/0! 0 0

443000010633 4.43E+11 GSK.100060 0 0 0 #DIV/0! 0 0

443000010632 4.43E+11 GSK.100055 0 0 0 #DIV/0! 0 0

443000010695 4.43E+11 GSK.100050 0 0 0 #DIV/0! 0 0

443000020462 4.43E+11 GSK.100040 0 0 0 #DIV/0! 0 0

443000020461 4.43E+11 GSK.100035 0 0 0 #DIV/0! 0 0

443000010697 4.43E+11 GSK.100030 0 0 0 #DIV/0! 0 0

443000010628 4.43E+11 GSK.100025 0 0 0 #DIV/0! 0 0

443000020667 4.43E+11 GSK.100025 0 0 0 #DIV/0! 0 0

443000010626 4.43E+11 GSK.100020 0 0 0 #DIV/0! 0 0

443000020668 4.43E+11 GSK.100020 0 0 0 #DIV/0! 0 0

443000020666 4.43E+11 GSK.100015 0 0 0 #DIV/0! 0 0

443000020456 4.43E+11 GSK.100010 0 0 0 #DIV/0! 0 0

443000020602 4.43E+11 GSK.100005 0 0 0 #DIV/0! 0 0

443000020457 4.43E+11 GSK.100000 0 0 0 #DIV/0! 0 0

441137089730 4.41137E+11 GSK 0 0 0 #DIV/0! 0 0

441137098660 4.41137E+11 GSK 0 0 0 #DIV/0! 0 0

441137806440 4.41138E+11 GSK 0 0 0 #DIV/0! 0 0

441342509831 4.41343E+11 GSK 0 0 0 #DIV/0! 0 0

443000010627 4.43E+11 GSK 0 0 0 #DIV/0! 0 0

443000012315 4.43E+11 GSK 0 0 0 #DIV/0! 0 0

443000017253 4.43E+11 GSK 0 0 0 #DIV/0! 0 0

443000020625 4.43E+11 GSK 0 0 0 #DIV/0! 0 0

443000012251 K-JUNTA CAZOLETA HARMONY GSK 1 0 1 0.00 0 158

443000016831 K-Junta Silicona Cil, 4dx407,23Lmm AV GSK 0 0 0 #DIV/0! 0 0

443000019027 RLLE JOINT SILICONE 14X7X12 GSK 0 0 0 #DIV/0! 0 0



Signify Classified - Internal#

441137042230 GASKET / SEAL, MEPLAT LG 535 COLLE/GLUED GSK 0 0 0 #DIV/0! 0 0

441137800430 4.41138E+11 GSK 0 0 0 #DIV/0! 0 0

443000020146 4.43E+11 GSK 0 0 0 #DIV/0! 0 0

441137732510 K-GASKET EMBASE METRONOMIS GSK 0 0 0 #DIV/0! 0 0

443000010953 4.43E+11 GS.13.03.1 0 0 0 #DIV/0! 0 0

443000014096 K-LABEL DRIVER PROG. PHL ETI.04.035 0 0 0 #DIV/0! 0 0

443000014981 BASE NEMA L415 CABLEADA EDV.000130 0 0 0 #DIV/0! 0 0

441137083920 K-FILTRE SCHAFFNER FN2030-1-06 EDV.000105 0 0 0 #DIV/0! 0 0

443000020528 CABLE SET PCBAV3 CLEARFL, LARGE_FEP WIRE EDV.000055 0 0 0 #DIV/0! 0 0

441137038070 EMI FILTER 119899 EDV.000045 0 0 0 #DIV/0! 0 0

441137081600 K-EPCOS EMC FILTER 6A B84111F0000 CII EDV.000040 0 0 0 #DIV/0! 0 0

441137099111 K-GB3_IP66_SIP ARENAVISION_OPTIVISION DR 2 0 2 0.00 0 108

441137040960 4.41137E+11 DEF 0 0 0 #DIV/0! 0 0

441137098100 4.41137E+11 DEF 0 0 0 #DIV/0! 0 0

442710267700 4.4271E+11 DEF 0 0 0 #DIV/0! 0 0

442710267710 4.4271E+11 DEF 0 0 0 #DIV/0! 0 0

442710302880 DRIVER CLIP SR 40W BGP760 DIGISTR MICRO DEF 0 0 0 #DIV/0! 0 0

443000013438 K-PLETINA L SOPORTE TIPO 1 IVG DEF 0 0 0 #DIV/0! 0 0

443000013471 K-PESTILLO VIDRIO AIRTRACE-1 DEF 0 0 0 #DIV/0! 0 0

443000015096 K-TORNIL DIN-7500  M5x20 IN TORX DEF 0 0 0 #DIV/0! 0 0

443000015586 4.43E+11 DEF 0 0 0 #DIV/0! 0 0

443000016161 RST20i5 MALE M25 DEV, CONNECTOR BL DEF 0 0 0 #DIV/0! 0 0

443000016586 4.43E+11 DEF 0 0 0 #DIV/0! 0 0

443000018622 4.43E+11 DEF 0 0 0 #DIV/0! 0 0

443000050767 4.43E+11 DEF 0 0 0 #DIV/0! 0 0

443310410009 CABLE GLAND PG13,5/NUT/GASKET-GREY DEF 0 0 0 #DIV/0! 0 0

258820000014 K-SCR MTF M5X8 F CB X25 ST CL DIN7500C DEF 0 0 0 #DIV/0! 0 0

258820100011 SCR STD M5x10 F CB-W A2 DIN7985 DEF 0 0 0 #DIV/0! 0 0

441134802331 SCR MTF M3X6 F CBW X10 ST CL DEF 0 0 0 #DIV/0! 0 0

441160003451 K-SCR STD M6  X25  F SK  H5    A2 SH DEF 0 0 0 #DIV/0! 0 0

252241912004 Prev,torq, hex nut elvz M6 12348,060,001 DEF 0 0 0 #DIV/0! 0 0

242201519362 K-CS3PL-M-160063 DEF 0 0 0 #DIV/0! 0 0

441160004881 K-SCR MTF M4X20 F CB X20    ST  CN DEF 0 0 0 #DIV/0! 0 0

443000017277 K-M RST16i3/2 GR 46,032,4555,7 DEF 0 0 0 #DIV/0! 0 0

441137800320 4.41138E+11 CL.A5.09.D 0 0 0 #DIV/0! 0 0

443000017276 K-F RST16i3/2 GR 46,031,4555,7 CL.A1.02.A 0 0 0 #DIV/0! 0 0

443000017537 K-F RST16i3/2 BLUE 46,031,4553,9 CL.A1.02.A 0 0 0 #DIV/0! 0 0

251161817205 K-RLLE L5 A2-70       (5,3X16X1) CL.12.11.A 0 0 0 #DIV/0! 0 0

441160004931 4.4116E+11 CL.12.11.A 0 0 0 #DIV/0! 0 0

251144500001 K-ECROU HE M5 CL.12.11.A 0 0 0 #DIV/0! 0 0

441137060630 K-GASKET ISO20 BLM (111200) CL.12.11.A 0 0 0 #DIV/0! 0 0

443000050815 4.43E+11 CL.11.10.B 0 0 0 #DIV/0! 0 0

242201519363 CS3PL-F-163063 CL.11.10.A 0 0 0 #DIV/0! 0 0

441137803390 4.41138E+11 CL.11.06.B 0 0 0 #DIV/0! 0 0

443000050465 4.43E+11 CL.11.06.A 0 0 0 #DIV/0! 0 0

441137096640 Louvre Kunstsof CL.11.04.B 0 0 0 #DIV/0! 0 0

443000012092 K-COVER CONEC, FEMALE 5 WIEL,BLK ALLI CL.11.02.A 0 0 0 #DIV/0! 0 0

443000010667 4.43E+11 CL.10.07.D 0 0 0 #DIV/0! 0 0

443000018456 K-Angular Bracket Kegel Comfort CL.10.01.B 0 0 0 #DIV/0! 0 0

443000018566 K-TRAY DRIVER KEGEL & BOBEK LED CL.09.14.A 0 0 0 #DIV/0! 0 0

441137095730 K-WATERTIGHT CLAM COLOSIO M140MN 3P ASSY CL.09.13.A 0 0 0 #DIV/0! 0 0

443000013456 K-RETENCION PESTILLO METIS CL.09.13.A 0 0 0 #DIV/0! 0 0

441137086320 K-CONNECTOR BRACKET KEY W2 BDS100 URBANS CL.09.12.B 0 0 0 #DIV/0! 0 0

443000018565 K-TRAY PCB KEGEL LED CL.09.12.A 2 0 2 0.00 0 80

441137806470 K-SUPPORTING COVER BRACKET CL.09.11.B 0 0 0 #DIV/0! 0 0

441137036460 SUPPORT KNIFE CGP430/431 CITYSOUL CL.09.10.C 0 0 0 #DIV/0! 0 0

441137806460 K-LOGO HINGE CL.09.06.C 0 0 0 #DIV/0! 0 0

443000017951 4.43E+11 CL.09.05.A 0 0 0 #DIV/0! 0 0

441137807970 K-CDP730 BOWL CLAMPING PLATE LOGO CL.09.04.A 0 0 0 #DIV/0! 0 0

441137098650 BDS490/491 CANOPY GASKET CITYCHARM CL.09.03.E 0 0 0 #DIV/0! 0 0

441134802351 K-SCR MTF M3X8 F CB X10 ST88 BH CL.09.01.E 0 0 0 #DIV/0! 0 0

441137062860 K-SCR STD M10X20 R GRB H5    ST  BH CL.09.01.E 0 0 0 #DIV/0! 0 0

441137071600 K-BREATHING BOX CL.09.01.C 0 0 0 #DIV/0! 0 0

443000016437 K-SOCKET SNAP IN TYPE 2 POLE 890-702 CL.08.12.F 2 0 2 0.00 0 161

443000020144 FOAM OPTISPACE CL.08.12.D 0 0 0 #DIV/0! 0 0

443000012748 K-TUERCA 3/4' G LATON CL.08.12.D 0 0 0 #DIV/0! 0 0

443000013506 K-RACOR SIMPLE 3/4' G  IJG JARGEAU CL.08.12.D 0 0 0 #DIV/0! 0 0

252262029034 K-RLLE DEC M5 A2-70(5,1X9,5X0,6) CL.08.12.C 0 0 0 #DIV/0! 0 0

443000012755 K-TUERCA ESF, CIEGA d14 M4 LATON CL.08.12.C 0 0 0 #DIV/0! 0 0

443000017822 K-CONNECTORS GUSSET 2M20+2M20+3M20 CL.08.12.C 1 0 1 0.00 0 0

441137034010 K-ADAPTATEUR OPTIQUE COSMO R 140 CL.08.11.E 0 0 0 #DIV/0! 0 0

441137801130 K-OTH SPST D4,34x7,94x20,63 PA-NY W CL.08.11.D 0 0 0 #DIV/0! 0 0

443000012379 K-ESCUADRA BAND, P/ACC, HARMONY CL.08.11.D 0 0 0 #DIV/0! 0 0

441137088491 K-PCB CONECTION BOARD ARENA VIS, IP66 CL.08.11.D 0 0 0 #DIV/0! 0 0

441137091841 K-PCB MB2-IP66 INTEGR, OPTIVISION LED CL.08.11.D 0 0 0 #DIV/0! 0 0

443000020484 4.43E+11 CL.08.11.A 0 0 0 #DIV/0! 0 0

441137450730 K-CLIP DE CAPOT T D CL.08.10.C 0 0 0 #DIV/0! 0 0

441137034600 CLIP PLASTIQUE CGP430/431 CITYSOUL CL.08.10.C 0 0 0 #DIV/0! 0 0

441137801950 K-BRP708 GLASS FIXER PART OCEAN LED CL.08.10.B 0 0 0 #DIV/0! 0 0

443000012038 K-DIP CLIP 2-TONE (ARC) CL.08.10.B 0 0 0 #DIV/0! 0 0

443000013424 K-PASADOR MOLETEADO IVF-150 CITYSPHER CL.08.10.B 0 0 0 #DIV/0! 0 0

443000012286 4.43E+11 CL.08.09.G 0 0 0 #DIV/0! 0 0

441137086190 K-SCREW COVER BDS100 DGR 10714  URBANST CL.08.09.G 0 0 0 #DIV/0! 0 0



Signify Classified - Internal#

441137807910 K-SECT, CONECTOR, MALE 3P OMT12647 LOGO CL.08.09.E 0 0 0 #DIV/0! 0 0

443000013351 4.43E+11 CL.08.09.C 0 0 0 #DIV/0! 0 0

443000010951 K-DIP GASKET 2-TONE & ARC & AIRTRACE CL.08.09.C 0 0 0 #DIV/0! 0 0

443000012062 K-PESTILLO CIERRE BAND, HARMONY ALLIA CL.08.09.B 2 0 2 0.00 0 150

443000012795 K-GARRA FIJACION OPTICA HARMONY CL.08.09.B 0 0 0 #DIV/0! 0 0

441137034180 K-CHARNIERE ENJOLIV CGP431 CITYSOUL LARG CL.08.09.A 0 0 0 #DIV/0! 0 0

443000012032 K-CLIP FIJACI?N BANDEJA CL.08.09.A 1 0 1 0.00 0 500

441137038050 K-FIXATION ECRAN THERMIQUE CL.08.08.C 0 0 0 #DIV/0! 0 0

443000014031 K-CLOSING SPRING P2438_CLEARFLOOD CL.08.08.B 0 0 0 #DIV/0! 0 0

443000020612 4.43E+11 CL.08.08.A 0 0 0 #DIV/0! 0 0

443000018764 K-OceanLED FR SPIRIT LEVEL CL.08.08.A 0 0 0 #DIV/0! 0 0

443000017836 K-FERRITA PATH 742,700,9 WURTH METIS CL.08.07.E 0 0 0 #DIV/0! 0 0

443000015303 K-FERRITE BEAD WE_74270053 FLOWSTAR CL.08.07.D 0 0 0 #DIV/0! 0 0

441137801990 K-BRP708 FR BRACKET LOCK WASHER OCEANLED CL.08.07.D 0 0 0 #DIV/0! 0 0

443000012026 4.43E+11 CL.08.07.C 0 0 0 #DIV/0! 0 0

443000018865 4.43E+11 CL.08.07.C 0 0 0 #DIV/0! 0 0

441137087060 K-FIXER BRACKET BDS798 CRISTALCITY CL.08.07.C 0 0 0 #DIV/0! 0 0

441137800890 ENS CHARNIERE INVISIB B/CGP430/1 V2CITYS CL.08.07.C 0 0 0 #DIV/0! 0 0

441169009941 SPRING FIXATION  LDG 3,0 CLEARF CL.08.07.B 0 0 0 #DIV/0! 0 0

443000013439 K-PLETINA L SOPORTE TIPO 2 IVG CL.08.07.B 0 0 0 #DIV/0! 0 0

441137801960 K-BRP708 SAFETYCABLE BRAID L280 OCEANLED CL.08.07.B 0 0 0 #DIV/0! 0 0

441137030180 K-CHAPEAU ARRET DE CABLE CL.08.06.D 0 0 0 #DIV/0! 0 0

443000011158 K-TUERCA CUADRA,DIN-562 8x8 M5CI CL.08.06.C 0 0 0 #DIV/0! 0 0

443000015225 K-GROUND CLAMP FLOWLINE CL.08.06.B 0 0 0 #DIV/0! 0 0

443000017474 WIRE CLOSING CLIP BTP764/BSP764 CATENARY CL.08.06.B 0 0 0 #DIV/0! 0 0

443000017147 4.43E+11 CL.08.06.B 0 0 0 #DIV/0! 0 0

443000014032 AAXK-SOPORT.SISTEMA DE BLOQUEO CLEAFLOOD CL.08.06.A 0 0 0 #DIV/0! 0 0

442710043240 Glass Holder ClearWay BGP303 CL.08.06.A 0 0 0 #DIV/0! 0 0

441137096210 CLOSURE SPRING CGP430/431 V2 CITYSOUL CL.08.06.A 0 0 0 #DIV/0! 0 0

442710252810 COVER STAND BGP760/1/2 DIGISTREET CL.08.05.G 0 0 0 #DIV/0! 0 0

443000015307 4.43E+11 CL.08.05.F 0 0 0 #DIV/0! 0 0

441137032940 K-FILTRE RESPIRATION CDS500/501 METRONO CL.08.05.E 0 0 0 #DIV/0! 0 0

441137731970 K-ECRAN THERMIQUE CL.08.05.E 0 0 0 #DIV/0! 0 0

443000016834 4.43E+11 CL.08.05.D 0 0 0 #DIV/0! 0 0

441137086580 K-GASKET MAST D60 DGR RAL10714 CL.08.05.D 0 0 0 #DIV/0! 0 0

443000011352 4.43E+11 CL.08.05.C 0 0 0 #DIV/0! 0 0

441137077471 K-AXIAL FERRITE BEAD 74270044 REDONDA CL.08.05.C 1 0 1 0.00 0 104

441300004801 K-BIPOLAR 3 WAY CONNECT C/W 3,1DIA HOLES CL.08.05.B 0 0 0 #DIV/0! 0 0

443000015719 K-AXIAL FERRIT BEAD 74271131 CUADRADA CL.08.05.A 1 0 1 0.00 0 61

441137099380 K-TERM COVER SQUARE GASKET DBP523 BBP623 CL.08.03.C 0 0 0 #DIV/0! 0 0

443000018788 SPECIAL DOUBLE WASHER 26 mm CL.08.03.C 0 0 0 #DIV/0! 0 0

441137807280 OSIRIS M3 STUD CL.08.03.C 0 0 0 #DIV/0! 0 0

441340022501 K-SPRING CLIP GEAR UNIT DBP523 CL.08.03.C 0 0 0 #DIV/0! 0 0

441160004911 K-SCR MTF M5X10 F CB X25    ST  CN CL.08.03.C 0 0 0 #DIV/0! 0 0

442710252600 CONNECTOR PLATE BGP760/1/2/3 DIGISTREET CL.08.03.B 0 0 0 #DIV/0! 0 0

443000016374 K-WALL MOUNTING BRACKET BGP221 FIXED CL.08.02.C 0 0 0 #DIV/0! 0 0

442710252620 DRIVER CLIP BGP760/1/2 DIGISTREET CL.08.02.B 0 0 0 #DIV/0! 0 0

442710252640 CLOSING CLIP BGP760/1/2/3 DIGISTREET CL.08.02.B 0 0 0 #DIV/0! 0 0

443000010688 4.43E+11 CL.08.02.B 0 0 0 #DIV/0! 0 0

442710252820 4.4271E+11 CL.08.01.B 0 0 0 #DIV/0! 0 0

442710218510 GPRS Bracket UniStreet BGP203 CL.08.01.A 0 0 0 #DIV/0! 0 0

258820100001 K-SCR STD M5x20 F CB X25 A2 DIN7985 CL.07.16.A 0 0 0 #DIV/0! 0 0

443000015756 K-SCREW RA,CHEESE DIN7500C M4x12 TORX CL.07.16.A 0 0 0 #DIV/0! 0 0

441137801270 K-MVF403-404 BREATHING BOX CL.07.16.A 0 0 0 #DIV/0! 0 0

441137807000 K-LOGO SPIGOT connection plate CL2 CL.07.16.A 0 0 0 #DIV/0! 0 0

258820100004 K-SCR STD M5X10 F CB X25 A2 DIN7985 CL.07.16.A 1 0 1 0.00 0 3000

258821100001 K-SCR STD M6X30 F SK X30 ST CL ISO 14580 CL.07.15.C 0 0 0 #DIV/0! 0 0

441137800710 K-SCR MTF M5X14 F CB  X25 ST88 CN CL.07.15.C 0 0 0 #DIV/0! 0 0

258820100005 K-SCR STD M4X8 F CB X20 A2 DIN 7985 CL.07.15.B 0 0 0 #DIV/0! 0 0

441137088830 SCR STD M6X35/25 F SK H5  ST BH CL.07.15.B 0 0 0 #DIV/0! 0 0

441300011761 K-SCR MTF M4X16 F CB X20 ST88 BH CL.07.15.A 0 0 0 #DIV/0! 0 0

441137077490 K-SCR STD M10X40 F SK H8 ST88  BH CL.07.15.A 0 0 0 #DIV/0! 0 0

242203000334 CS2PL-F-99,402,8120,7 CL.07.15.A 0 0 0 #DIV/0! 0 0

242203000335 CS2PL-M-99,403,8120,7 CL.07.15.A 0 0 0 #DIV/0! 0 0

441137450440 K-FILTRE PASTILLE D10,5X4 FEUTRE CL.07.15.A 0 0 0 #DIV/0! 0 0

441137098180 K-SOUTHCO STUD D8 316 415 190 CL.07.15.A 0 0 0 #DIV/0! 0 0

441137804250 K-BSP530 BSP531 STEEL JUNCTION G1' CHV2 CL.07.14.D 0 0 0 #DIV/0! 0 0

252200198333 2.522E+11 CL.07.14.C 0 0 0 #DIV/0! 0 0

258804300007 K-SCR STD M5X25 F GRB H2,5 A2 DIN913 CL.07.14.C 0 0 0 #DIV/0! 0 0

441137089610 K-SCR STD M10X25 GRB H5 ST88 CH CL.07.14.C 0 0 0 #DIV/0! 0 0

443000013225 K-TORNI, DIN-7985A M5x12 IN TORX CL.07.14.B 0 0 0 #DIV/0! 0 0

441137040351 4.41137E+11 CL.07.14.B 0 0 0 #DIV/0! 0 0

252204369103 SCR STD M10X20 R GRB H5    A2  SH CL.07.14.B 0 0 0 #DIV/0! 0 0

252220098628 2.5222E+11 CL.07.13.C 0 0 0 #DIV/0! 0 0

443000015099 4.43E+11 CL.07.13.C 0 0 0 #DIV/0! 0 0

441300011711 K-SCR MTF M6X14 SCKT BUTTON HD GLEITM625 CL.07.13.C 0 0 0 #DIV/0! 0 0

258820000005 SCR MTF M3x12 F CB CN DIN7500C CL.07.13.C 0 0 0 #DIV/0! 0 0

443000020619 4.43E+11 CL.07.13.B 0 0 0 #DIV/0! 0 0

441137806200 K-SCR STE 2,9X9,5 P CB X10 ST ISO 14585 CL.07.13.B 0 0 0 #DIV/0! 0 0

442250400530 SCR STD M6X60/24 F SK H5 A2 SH CL.07.13.B 0 0 0 #DIV/0! 0 0

441137097090 K-SCR STD M6X20 F SK H5??? ST? BH CL.07.13.A 0 0 0 #DIV/0! 0 0

443000013205 K-TORNI,DIN-7500C M 5x10 IN TORX CL.07.13.A 0 0 0 #DIV/0! 0 0

443000013229 K-TORNIL DIN-7985A M5x20 IN TORX CL.07.13.A 0 0 0 #DIV/0! 0 0



Signify Classified - Internal#

443000013231 K-TORNIL DIN-7985A M6x10 IN TORX CL.07.12.C 0 0 0 #DIV/0! 0 0

441137801940 K-SCR STD M8X20 F CK H5 ST109 CH CL.07.12.C 0 0 0 #DIV/0! 0 0

443000016421 K-TOR,DIN7500 TX M4X10 ZINKLA CUE/RED CL.07.12.C 0 0 0 #DIV/0! 0 0

258820300004 SCR STD M6x12 F CK9 X30 A2 DIN965 CL.07.12.B 0 0 0 #DIV/0! 0 0

443000013292 K-TORNILLO DIN-7991 M4X30 IN CL.07.12.B 0 0 0 #DIV/0! 0 0

441160005001 K-SCR PTF D3X20 F CB X10    ST  CN CL.07.12.B 0 0 0 #DIV/0! 0 0

441160005031 K-SCR PTF D4X13 F RL X20    ST  CN CL.07.12.B 1 0 1 0.00 0 1657

252203298323 K-SCR STD M12x25 F HX H19 A2 ?DIN933 CL.07.12.A 0 0 0 #DIV/0! 0 0

443000013199 K-TORN, C/EXA DIN 7500 M6x16 CI CL.07.12.A 2 0 2 0.00 0 1015

443000012759 K-TUERCA EXAGON,DIN- 985 M10  IN CL.07.11.C 0 0 0 #DIV/0! 0 0

443000012767 4.43E+11 CL.07.11.C 0 0 0 #DIV/0! 0 0

443000012754 K-TUERCA ENJAUL,0,5-1,5  M 5  BI CL.07.11.C 1 0 1 0.00 0 4000

443000012771 K-AAKX-TUERCA PRENSA, M20     CI CL.07.11.C 1 0 1 0.00 0 488

442710189664 SCR STD M6x80/24 F SK H5 A2-70 SH DIN912 CL.07.11.C 0 0 0 #DIV/0! 0 0

443000012756 K-TUERCA EXAGON, PG-29        PA CL.07.11.B 0 0 0 #DIV/0! 0 0

443000013281 4.43E+11 CL.07.11.A 0 0 0 #DIV/0! 0 0

441137094580 SCR MTF M4X12 F CB X20 ST CL SCW FCW CL.07.11.A 0 0 0 #DIV/0! 0 0

443000013595 K-ARANDELA PLANA  6,5x15x1,5 AL IJB CL.07.10.D 0 0 0 #DIV/0! 0 0

443000013591 K-ARANDELA PLANA  5 x 9 x 1,5 PA CL.07.10.C 0 0 0 #DIV/0! 0 0

443000015931 K-ARAND, PLANA 8dx16dx2  PA CL.07.10.C 0 0 0 #DIV/0! 0 0

443000020188 SEALING RING M12 GLAND (876,1200,0) CL.07.10.C 0 0 0 #DIV/0! 0 0

443000013588 ARANDELA PLANA  4,5x11x0,7 AL CL.07.10.C 0 0 0 #DIV/0! 0 0

441137801790 K-BRP708 HINGE AXIS FRAME OCEAN LED CL.07.10.C 0 0 0 #DIV/0! 0 0

252260079003 K-RLLE Z3 A2-70     (3,25X6X0,8) CL.07.10.B 0 0 0 #DIV/0! 0 0

252261398015 WSH LOS D12,5X21,1X2,5 A2 DIN 127B CL.07.10.B 0 0 0 #DIV/0! 0 0

443000015146 K-SPACER PCB ARENAVISION & OPTIVISION CL.07.10.A 0 0 0 #DIV/0! 0 0

228800007131 2.288E+11 CL.07.09.D 0 0 0 #DIV/0! 0 0

443000019121 ISOLATION PLASTIC PART TUBEPOINT GEN2 CL.07.09.D 0 0 0 #DIV/0! 0 0

443000013185 4.43E+11 CL.07.09.C 0 0 0 #DIV/0! 0 0

443000013186 K-REMACHE TRACC, 4x20x7,7d, AL, CL.07.09.C 1 0 1 0.00 0 1553

441137099630 K-RIV AV P 4,8X15,1  50/105 AG2/Z CL.07.09.C 0 0 0 #DIV/0! 0 0

443000010685 WASHER M8 15x8,4x1,6 A4 TWOBIN CL.07.09.C 0 0 0 #DIV/0! 0 0

443000015314 K-CABLE CLAMP ARENA VISION LED CL.07.09.C 1 0 1 0.00 0 696

443000013178 K-REMACHE TRAC,4x10x8d AL EST CL.07.09.B 0 0 0 #DIV/0! 0 0

443000017275 K-PRENSA,M12x1,5 Gris7001 IP68 TUBELINE CL.07.09.B 0 0 0 #DIV/0! 0 0

443000015583 K-CABLEG,BL M25 LAR JUNT PL ADAP,9-18 CL.07.09.B 0 0 0 #DIV/0! 0 0

443000014968 4.43E+11 CL.07.09.A 0 0 0 #DIV/0! 0 0

443000015031 K-VENTILATION PLUG M20x1,5 BIMED FLOW CL.07.09.A 0 0 0 #DIV/0! 0 0

443000010961 PASAMUROS DIP-OPTIC ARC80 CL.07.08.C 0 0 0 #DIV/0! 0 0

443000011949 K-PRENSAESTOPAS M20 IP68 NEG, PA CL.07.08.C 0 0 0 #DIV/0! 0 0

443359800050 VENTING PR, (POV/M12x1,5) TUBEPOINT CL.07.08.C 1 0 1 0.00 0 0

443000011351 FIELTRO CAZOLETA ARC80 CL.07.08.B 0 0 0 #DIV/0! 0 0

443000012405 K-PASAHILOS 2d TALADRO 9 SI, CL.07.08.B 0 0 0 #DIV/0! 0 0

443000012014 4.43E+11 CL.07.08.A 0 0 0 #DIV/0! 0 0

443000013587 K-ARANDELA PLANA  4,5x10x3   SIL OBSO CL.07.08.A 0 0 0 #DIV/0! 0 0

443000012016 K-TAPON PRESION 10 d,x 6,5  EPDM CL.07.08.A 3 0 3 0.00 0 251

443000014094 K-TAP?N PRESI?N 14dx11 EPDM-N CL.07.08.A 3 0 3 0.00 0 1201

443000014792 K-BASE + TAPA WIELAND 3P ARC CL.07.07.D 0 0 0 #DIV/0! 0 0

252220398005 K-SCR STD M4x30 F CK9 X20 A4 DIN965 CL.07.07.C 0 0 0 #DIV/0! 0 0

443000012093 K-COVER CONEC, FEMALE 2 WIELAND BLK CL.07.07.C 0 0 0 #DIV/0! 0 0

443000017538 4.43E+11 CL.07.07.C 0 0 0 #DIV/0! 0 0

441137034570 K-CLIP PLATINE CGP431 CITYSOUL LARGE CL.07.07.B 0 0 0 #DIV/0! 0 0

441137080250 K-SCR MTF M5X16  F CB X25 ST88 CH CL.07.07.A 0 0 0 #DIV/0! 0 0

443000015148 K-Connector WAGO 3Poles ARENA VISION CL.07.06.E 1 0 1 0.00 0 142

443000010955 K-ANILLO REDUCTOR PRENSACABLE ARC CL.07.06.C 1 0 1 0.00 0 25

443000016438 K-PLUG WITHOUT RELIEF HOUS 2P?890-212 CL.07.06.C 1 0 1 0.00 0 183

258820100007 2.5882E+11 CL.07.06.B 0 0 0 #DIV/0! 0 0

258820000015 SCR STD M6X30 F CB XS30 A2 CL.07.06.B 0 0 0 #DIV/0! 0 0

443000012024 K-TAPON BRAZO IJM-150/1 CL.07.06.B 0 0 0 #DIV/0! 0 0

441137806430 4.41138E+11 CL.07.03.C 0 0 0 #DIV/0! 0 0

242201519422 CS Z -99,002,8120,7 CL.07.03.B 0 0 0 #DIV/0! 0 0

441137807390 OSIRIS FIX PLATE HEATSINK CL.07.02.C 0 0 0 #DIV/0! 0 0

248801500019 2.48802E+11 CL.07.02.B 1 0 1 0.00 0 0

441137075090 K-SCR MTF M5X10  F CBW X25 ST88 CH CL.07.01.C 0 0 0 #DIV/0! 0 0

441137808190 K-CDP730 LOGO COVER GASKET CL.07.01.B 0 0 0 #DIV/0! 0 0

242202516828 FEMALE KNIFE CONNECTOR 3P CL.07.01.B 0 0 0 #DIV/0! 0 0

443000015933 CABLE GLAND M12 STOPPER OPTIVISION LED CL.06.15.C 0 0 0 #DIV/0! 0 0

443000020187 M12 CABLE GLAND (364,1200,2) CL.06.15.C 0 0 0 #DIV/0! 0 0

443000019092 BDS500 CONNECTOR BRACKET GASKET CL.06.15.C 0 0 0 #DIV/0! 0 0

443000018593 ALUMINIUM CABLE CLAMP AL8 FLOWSTAR CL.06.15.C 0 0 0 #DIV/0! 0 0

443000017809 K-Separator grey UT16 METIS CL.06.14.C 0 0 0 #DIV/0! 0 0

443000017813 K-Fuse connector UT6 METIS CL.06.14.C 0 0 0 #DIV/0! 0 0

443000017881 K-TERMINAL BLOCK LK 980-01-5 ADELS CL.06.14.B 0 0 0 #DIV/0! 0 0

443000017806 K-END SEPARATOR gris UT16 METIS CL.06.14.B 0 0 0 #DIV/0! 0 0

443000017807 K-Connector grey UT16 METIS CL.06.14.B 0 0 0 #DIV/0! 0 0

443000017808 K-Connector blue UT16 METIS CL.06.14.B 0 0 0 #DIV/0! 0 0

443000017811 K-Connector ground UT16 METIS CL.06.14.B 0 0 0 #DIV/0! 0 0

443000017805 K-ENDCAP NS35/7,5 METIS CL.06.14.A 0 0 0 #DIV/0! 0 0

443000013544 K-REGLETA CONEX,5P,10mmT12ma, PA LUXX CL.06.13.A 0 0 0 #DIV/0! 0 0

443000010945 4.43E+11 CL.06.10.B 0 0 0 #DIV/0! 0 0

443000012538 K-AISLANTE P/LAM,BASE 55dE-40 ARC_QT1 CL.06.09.D 0 0 0 #DIV/0! 0 0

441342514681 K-T/BLOCK BRKT INSULAT CLII&I-BBP621 DEC CL.06.08.C 0 0 0 #DIV/0! 0 0

441137150960 SCR PTF D6X16 F CB X20 A2 CL.06.08.C 0 0 0 #DIV/0! 0 0



Signify Classified - Internal#

441137151150 4.41137E+11 CL.06.08.C 0 0 0 #DIV/0! 0 0

441137042340 K-RLLE GASKET 5,7x10x1 CL.06.08.B 0 0 0 #DIV/0! 0 0

441137089820 K-OBTURATEUR ISO20 (107202) CL.06.07.C 0 0 0 #DIV/0! 0 0

441300007251 K-M12 Cable Gland - Jacob 50,612 PA/SW CL.06.07.C 0 0 0 #DIV/0! 0 0

443000012252 K-JUNTA CAZOLETA ARC80 300?C CL.06.07.A 1 0 1 0.00 0 234

441137803400 4.41138E+11 CL.06.06.C 0 0 0 #DIV/0! 0 0

443000016857 JUNTA COLLARIN ARC80 CL.06.06.B 0 0 0 #DIV/0! 0 0

828800019071 8.288E+11 CL.06.05.A 0 0 0 #DIV/0! 0 0

443000012063 K-CONJUNTO PESTILLO ARC CL.06.05.A 1 0 1 0.00 0 300

441137090450 K-WSH FLAT G M10, 5X22X2????? ST CH CL.06.04.A 1 0 1 0.00 0 0

443000013494 K-TUBO MANGUERA ARC80 CL.06.03.B 1 0 1 0.00 0 700

443000018818 FEMALE DISCONNECTOR 4 POLES CL.06.02.E 0 0 0 #DIV/0! 0 0

443000018819 MALE  DISCONNECTOR 4 POLES CL.06.02.E 0 0 0 #DIV/0! 0 0

443000017399 K-Fijaci?n bandeja Stela Round CL.06.02.B 1 0 1 0.00 0 562

443000017519 SCR STD M8x20 F SK HS6 A4 DIN-912 CL.06.02.B 0 0 0 #DIV/0! 0 0

828800010531 CLAMP 6d,x13 LUMA (C67S-A-014) v,3 CL.06.02.A 0 0 0 #DIV/0! 0 0

443000017403 K-SCR STD M10x20 R GRB HS5 A4 STELAS CL.06.02.A 0 0 0 #DIV/0! 0 0

252260012025 K-X-RLLE ISOLANTE 4,3X 8     CARTO CL.06.01.D 0 0 0 #DIV/0! 0 0

441137805200 4.41138E+11 CL.06.01.C 0 0 0 #DIV/0! 0 0

441137807270 4.41138E+11 CL.06.01.C 0 0 0 #DIV/0! 0 0

441137035960 SCR STD M6X8 G GRB H3 ST88 CH CL.06.01.C 0 0 0 #DIV/0! 0 0

321100685080 K-BOLSA 300X400 6/100 POLYET CL.06.01.A 0 0 0 #DIV/0! 0 0

441137066440 K-SUPPORT PORTALA CGP431 NEW CITYSO LARG CL.06.01.A 0 0 0 #DIV/0! 0 0

441137087140 K-SCR STD M8X16 F GRB H4 A2-70 GLEITM625 CL.06.01.A 0 0 0 #DIV/0! 0 0

441137806530 K-LOGO locking plate right CL.06.01.A 0 0 0 #DIV/0! 0 0

441137096820 K-BRACKET CONNECTORS CL.06.01.A 0 0 0 #DIV/0! 0 0

441137806540 K-LOGO locking plate left CL.06.01.A 0 0 0 #DIV/0! 0 0

242201520167 TB3BI PI 044013 (LK980-01 RZ/3) CL.05.04.A 0 0 0 #DIV/0! 0 0

441137060580 PE PG16 BLM CABLE10A14 (100175) 0 0 0 #DIV/0! 0 0

441137060590 ECROU PE PG16 BLM (102225) 0 0 0 #DIV/0! 0 0

441160001691 K-SCR STD M6X16 F SK H5    A2  SH 0 0 0 #DIV/0! 0 0

441160005161 K-SCR MTF M3 X6 F CB X10 ST88 CH 0 0 0 #DIV/0! 0 0

441300010971 K-M20x15 27 GLAND HYLEC-50016M20PASW 0 0 0 #DIV/0! 0 0

442710267680 4.4271E+11 0 0 0 #DIV/0! 0 0

443000010629 4.43E+11 0 0 0 #DIV/0! 0 0

443000010952 4.43E+11 0 0 0 #DIV/0! 0 0

443000014969 K-CABLE CONEXION II PCB (8x035)CLEARF 0 0 0 #DIV/0! 0 0

443000015149 K-WAGO connector 2Poles 0 0 0 #DIV/0! 0 0

443000015935 K-MAZ,CBL 2-DRIVER TT-CII OR EMC LUMA 0 0 0 #DIV/0! 0 0

443000016865 4.43E+11 0 0 0 #DIV/0! 0 0

443000018592 4.43E+11 0 0 0 #DIV/0! 0 0

443000018595 4.43E+11 0 0 0 #DIV/0! 0 0

443000020458 4.43E+11 0 0 0 #DIV/0! 0 0

443000053853 K-SUBC-CABLE SET EMC FILTER CF LARG 0 0 0 #DIV/0! 0 0

443000015663 CONNECTING CABLE PCB 4X0,50X330 LED ENGI 0 0 0 #DIV/0! 0 0

443000015215 K-RJ45 CONNECTOR 0 0 0 #DIV/0! 0 0

443000015349 CONNECTING CABLE PCB 4x050 170mm 0 0 0 #DIV/0! 0 0


